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const float short unsigned
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Example

#include < stdio.h >

/*this program displays “| am a student of class 10th" on the output screen*/
void main( )

{ //body of main function starts from here

printf (*I am a student of class 10th");
} /lbody of main function ends here
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Matching data type in C
Type of data Ingusge Sample value
Integer int 123
Real float - 23.5
Character char a'

(Data type of Variable) oAt 2
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Unsigned int .2
unsigned - (3x_f+4.294.967.295.:. o;afjw,nc_tf/s}’f ui‘.;:.—,i..i/ unsigned int L
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: (Constants) =6~
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(Variable Declaration) ¢ /432
PPN SN B2 g*?s/,é’-;_;,,ﬁd’z_/,_iﬁ.iyﬁé’v:‘-é;;:_.»;.fdwu:;',f,/,
e Fe G aE Lired Lo S Stpta s
Data_type variable_name;
cad it eSS
unsigned int age;
float height;

int salary;

char marital_status;
e VWL ULt S e T A i Polia LE AL L fe L

unsigned int age, basic_salary, gross_salary;
int points_scored, steps;
float height, marks;

char marital_status, gender;
U Sttt S L8 S Pf 3y LS s S S EealPol UF A0 37

ket SIAME ST i i T M e W LUV S S e Bete i S 25305 ey
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void main ()

{

char grade,
int value,

U
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data_type variable_name = value ;

(Variable Initialization) o/< 7 %1 2

SR A 'ff;:JJ,.;_th/-ffflﬁ*'r a7 ;.;‘5:’//:""...(!.:/"&

-,f"” fLmJ_..f__)nwr..Js[.U Y

e

—o—b

%UL-/V[,,‘/" :’/....,l 2 L.JLO( [’I/u.flJVv S

J&

#include<stdio.h>
void main()

{

char grade; //Variable grade is declared

int value = 25, /*Variable value is declared and initialized. */

grade ='A"; //Variable grade is initialized

}
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data_type variable_name = value ;

(Variable Initialization) o/< 7 %1 2

SR A 'ff;:JJ,.;_th/-ffflﬁ*'r a7 ;.;‘5:’//:""...(!.:/"&

-,f"” fLmJ_..f__)nwr..Js[.U Y

e
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#include<stdio.h>
void main()

{

char grade; //Variable grade is declared

int value = 25, /*Variable value is declared and initialized. */

grade ='A"; //Variable grade is initialized

}
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AADES S L LA S 2 LGy essSp et o
.J./L:"‘/pﬁrﬁ wclcomec.mluijrl/:/',_qﬁ/‘._il ®

#include <stdio.h> Sy &)
#include <conio.h>

void main()

{

/*A simple C language program®/ Wlcometo © language

printf (‘Welcome to C language”);
getch(),

{-,;,f._—,{/é:"uﬂ _Q/,f“—-ff&l/f-’é Lﬁlﬁﬁjqbééé./rsﬁfgi b’w:)o[ﬁfz..'j:?uﬁjr‘l /(,J; ...QZ/Igy‘-

S AL
SPJ -LTT‘“ ;Lﬁ;/‘f'“ __J]3|;|b/ﬂd/ff¢ —j;J\‘J'-".I{rl:L/._I;T‘
WS
#include<stdio.h> b o
.
#tinclude<conio.h> b Rt
int main()
{
char n='"M", g='M",
int age=20; MM206.1

float height=6.1,

printf( " %c %c %d %f", n, g, age, height ),
getch();

return O; }
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_q/(:“’rtLIDEsJBL-)fd’f;;:'.A;l)';/, C 2 5L (Web Browser)u'?!/,../_:'g.' 1.1 d)’/

g
1. Eclipse

2. NetBeans
3. Sublime Text

L R s a IDEL -2 F IDE dn U2 2ed £ IS 1.28 S 7

e S

#include<stdio.h>
void main()

{

printf(“Hello World")

)

-V:{gp,/”u/‘é L‘Wl'L'_ZJ;ELMJ_'_/J:.{}@CGV:BW'U' 11.36;/
int, pack, create, case, return, small, math, struct, program, library.

W

int
case
struct

AN =

return
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Sl B L)y cn48S,

ldentify different parts of the foliowing C program:
#includé <stdio.h>

#include <conio.h>

void main()

{

brintf("l am a student of class 10th");
getch();
}

Header files

#include<stdio.h>

#include<conio.h>

Main section

void main()

Body of main function

{

printf(“l am a student of class 10th" );
getch();

}

-Jtﬁulﬁ/'u'u-‘faudgf_}bu :l.Sd//

Tick valid comments among the following:
= *comment goes here*
* /comment goes here/
*  %comment goes here%
*  /*comment goes here*/
*  /[*comment goes here/
* /lcomment goes here */

[*Comment goes here*/
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(S =3SpS e L psne 1,68 S
12 1.2 L -21 32.768
‘a’ -12.3 41 40.0 ] U
,- '
1. integer constant(12)
2. Real constant(1.2)
3. Character constant(**')
4, Integer constant(-21)
5. Real Constant(32.768)
6. Character constant('a’)
7. Real Constant (-12.3)
8. Integer constant(41)
9. Real Constant(40.0)

10. Character constant('\')

-J@a/’f;:/ﬂU;’t‘w»é et e Ltita:l 70’/"/

_Hello, 1var roll_num Air23Blue float
Case $car name =color Float
W
1. _Hello
2. roll_num
3. name
4. Air23Blue
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; :Q_‘f
A YA el T
AT e ALaa g ATLT

W
#include<stdio.h> '
#include<conio.h>

int main()

{

charn="M', g ="M

int age = 20,marks = 800;

float height = 6.1,

printf( " %c %c %d %d %f",n, g, age, marks , height);

getch();

return O;

)
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-4.8/ L u:G printf

PP A & LIS 6 gl FOL e P L Jontid P print ) LEBis s
Tt

printf ()

"oty (6 e A E Couilt-in) wiek L E B g5 & £ LT et Fprimef
J(/Lubapn'ntfrul Jti_irl? s £y Jes 4_‘_ Lé_/..';/,/,q/f_*{,.;ﬁ,;e,;/wg_m:_ (print formatted)
:J_/ru;l'd(?ul;l):/"j_ibn_iLééﬁl(l’géuﬁﬁprintf-w@clggf/ﬁ
WJe

Program Output:
#include<stdio.h>
void main()
{ ’ ) Hello World
printf(“Hello World");
}

) qmu:u-‘ﬁprintf ()rtc‘:.t‘ndt-;lé. LLJ%Q%/HeIlo World uﬁﬁprintf L
-9?”;@4@/cwaﬁd{/:£/;l£

?w(nu[ RPN POy 5 A2 (equsT [aqun 1/ 0:ir
A sear sr il b SELUE P Sabad B Lidn by F g S A oo 2
7 -‘;_.Jg"/dy’ﬁu/_{.:{;ﬁ-;_mdv;vg. L.;ﬁ-"’u:’».:f,.;;l’m_»,,ul/’l;f,{..:,._nli-g_rnc,/‘:__'/..:/uf
S/ G e, L printf /.‘,,u/j‘%f,:"".{:?w.ﬁ_gcf,;wf.;EJ/j"g{(«/ﬁ:d&
int age = 35;
printf (“age”); :Lgijﬂ‘qu/pi-wzi.gt//;w,u:/‘;.EJage /é"m(?fl.,i
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age e b d Tty F o S S 1y i

..I.;(_frgzﬂf. Q{JIJL prinlf:’.{_.VU’JLF).J/._.-LL(-&JIf..rfg,@);w;.:é:}hfu’fﬁ age/."}:«
L L s K s piir -zt j g F A2 eenfSifertnf i ar il =32,

e bWt il G
Data type Format Specifier
int %dor%i
float % f
char %c

m@{,r/du‘-«zi \2d & LESTn L printf et L0 B2t ikI¥At int AL P/
e WO RIS 0000 o gt S I 1E 2 T L L3 float U

Program

#include<stdio.h>

#include<conio.h>

void main() Output:

{ clrscr(); . | My age is 35 and my height is 5.800000
float height = 5.8;
int age = 35,
printf(* My age is %d and my height is %f ", age, height);

} getch(). :

Jage &?%L;ﬂ&?i%)#édﬁ:.?d&%&{zﬁ%;ssi.ul:q;iffwé{:ﬁ
_.Ia.l_._fTﬁ#/;}.&{/’i?_‘{é{;ﬁ‘.f})ﬂl?&?pé
ursa L nf e tie it 6 B I Bl LI 18 L L S peshe i
_dfﬁg;}?:r?ﬁuﬂJf#UQQJﬂ-{_}U;Juri{ n u@wé.ﬁ'z:nf(??w;-t;w:lﬁu(

Program
#include<stdio.h>
#include<conio.h>
void main() ) Output:
{ clrser(): My age is 35 and my height is 5.80
float height = 5.8,
int age = 35;
printf(" My age is %d and my height is %. 2f ", age, height);
getch();
}
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L//;W._f?(cf‘-/{-[lfgfry‘//,u;»& &'ﬁf;b’-affdb‘:"(d‘t}”/’-z—”ﬂdb‘."‘.’—LEJ///V’-{MIG

VWIS L e b £

Program

#include<stdio.h>
#include<conio.h>
void main()

clrscr();

printf(“Sum of 23 and 45 is %d", 23 + 45),

getch();

Output
Sum of 23 and 45 is 68

?u:'d <) scanf()

u.J/’(P:,’.‘..;‘Aiﬂufubgscanf-q.Céqulu:):’Jd/_Jc.J/bﬁq_c;aui_‘é.—gluféﬁu' scanf. :scanf ()
Ziltzd /'Bf.?f.‘._//(iuful_/.gﬂ scanf 79(‘&)(‘45%.’;9{25/.‘:"].511‘4/(!-@_7L/’yU)J{Déi’Jt‘;L:q,wlc.

S et g etn

#include<stdio.h>
#include<conio.h>
void main()
{ clrser(),
char grade;
scanf(“%c", &grade);
} getch();

5% L grade /:":‘:(._'f,ulérd;J..j/La-g.l_flfJng‘_.J:.L).:!d/_,.;f’tf’.(//’u{_'.:/UZc Lo
/l/suslc‘_.:,/jd//’%..‘.{;ﬁyu{;/il& g):m-lal:clgbg)J5f4alfu)'u3£(7m£u"'ﬁ scanf -‘c‘Lﬂ«r

printf(“Enter a number between 0-10:");
scanf(*%d", &number);

printf(“The number you entered is: %d", number);

geteh(),

—e bW & SAAL e cer fS e B

Program
#include<stdio.h>
#include<conio.h>
void main()
{ Output

clrscr(); Enter a number between 0-10: 4

int number; The number you entered is  : 4
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-qf;f,;ug.;]_}g/p-wéé_&,uu»;Z.:ri_.fdb;'b’u:g scanf (fkif?
scanf (“%d%d%f”, &a, &b, &c);
bt enter | space L1f e Loc roe gl ¢ SIS0 Linb il a&ldgz'-:l»,_.
,c‘-’cC/‘:/,:l&-‘apr(k:/‘/. t!gdﬁf,"./;:l &L).’-J“G scanf - F1(iUtLs enter :(.J/L-,o.’é.;gui(l?-f.bf
PSS PR O S Y P

?u.’g i getch() :Jir
getch ()

,_.-q_t'xuﬁi/:tf,;c[;/'.(/u/gfb(_bb-q.rygdb:’l.{.é4/'.(/~_flc..5/bd"6 getch ()
;&J/J/u,fi-f-?a:ufLffé,un(:)',/,.f[‘aﬂ,gfdm.:'_LZ;/J'J,;.@Q J(I/’{,/'u*(ku:ﬁ
e OSSO RSE L Siyf conioh S AL L L SII APty

#include<stdio.h>
#include<conio.h>
void main()

clrser();
printf(“Enter any key if you want to exit program”);
getch();

-g.t'//ﬁ;'lb/‘.'/'uiz._bb%LL/JII(J“L(!/;/'AM:‘-Q qul){fd‘éyrcv‘/b(l[,{ugbu

#include<stdio.h>
#include<conio.h>
void main()
{ cirscr();
char key;
printf(“"Enter any key:");
key = getch(); // Gets a character from user into variable key
getch()
)

i_nL,fJL-”lb’u/:ﬁ getch mag/)(/,_ﬁz,nafdv‘—m scanf f?walgfrl/ﬁ4uaﬁﬁ

JZ_Q; enter _A& Ll& Z:Tf(l/u'f;wa?'/'.(/d,/i& scanf (-.,z-.;.rf_}" J/Jé.?,f/":/-_(l

J)JLIJ;[JIJ&M%C’ZI/’?)L{I&G-c‘..t')’gﬁ‘;/@'fi.p;& enter ,J;J:‘Jgetch dg-q.&n:u,/"
' -4t
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w.‘." L9z clrser ()

clrscr ()
e bt LS d g FopusT b 2 2P
Je
Program
#include<stdio.h>
#include<conio.h>
void main() Output
{ I _ Enter a number between 0-10: 4
clrscr(), The number you entered is  : 4
int number,
printf(“"Enter a number between 0-10:");
scanf(*%d", &number),
printf(“The number you entered is: %d", number);
getch();
}

(Statement Terminator) /< Ae%’
o it /:"-’(;)J/u':u:é:‘?g)’~{_‘t'/(jilﬁ‘;{‘&ﬂ£u"u.r?§_sﬂa504_ LIS re
e tbT(Emon) 22302/ S FTL A a1 e bni

printf("Hello World") Srlament

e uden ol sy U kobry
(Escape Sequence) Wl 2 .‘._acl
L i e sTe sz SIS printf 2.l 18 L") o £t P printf /& L1

printf (“My name is \”Ali\"”); . Wl Skl S S K
My name is “Ali” -4..,.Lg.¢.;TJ.>>5=" Wosur

-la(}.-r,"(L//;W"/,c[;l/'::f'/primfg-q.u'.',}.cvgc'v_(" \"gﬂd&ll{..?/#
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Lj'lfj?.:.:ib" /‘_(/i/u»f.f_t‘.ﬁ ("\") (back slash) Jf*.g.b.f,f*‘ff&_g_q_d":/.;d,;u&’;’?.;fl
il LSt AL Frie ol XS _ OO Lopzet/ Sl et i L

y"_,r*c.yr.eg,ga)}h’u’:ﬁ,u’%az_m_,r.-";w/‘;,_'} /:.r/rﬂsi_fﬂ![..Jl..rslfg/?-;cf-g.tﬁ.ﬁ;'c—u‘r:.ﬂ
..(;.E.KJL';JJE;JQ C /gztb{’hkﬂfy_c.?-}lljau-‘ag

o Sk i 72
I NS \a Otig Fed v
et S, \b MWy FUr o \
etbSL b \n ' e e U8 \t

(New line) (\n) Fu¢
;,"'*";_‘:.?-;Ci:-_e.l:@/é_.;;c;/jf. (New Line) cfi.lgﬂﬂcursor)//rf“'_t';fl: n p’c'.:/ﬁ..f/’:r;*:l
W e rnded L8 Su o esT uf intie

Program

#include<stdio.h>
#include<conio.h>

void main() Output
{ . My name is Ali.
' I live in Lahore

printf(“My name is Ali. \n");
printf(“l live in Lahore®);
getch();

}
,?zﬂ_Jﬂ/:w4c;U&.«_fl¢4¢:TJuf;u:':d"’_’.-?"sl printf;:'zjc_-gbfk:_.zh.ﬁ/ﬂi J",}.C.,—;Cl
:{JB‘ _‘LJ/C'I’_-.L,_.JC'JJ

Program

#include<stdio.h>
#include<conio.h>

void main() S
ut
{ clrscr(); P
printf(*My name is"); My name is Ahmad
printf(*Ahmad™);
getch();




35 ey | 3§ G

'\t"y_’
27 bt Lt £ (Tab Stop) w2 L1t F1 S e bl P 1/0  \t &£ B
Je -.at‘lgL/___.;l'/l.,.-;‘ilf//JF’!(\t-.:-_t'njr’-'b’(s;;aces)

Program
#include<stdio.h>
#include<conio.h>

void main() Output
' : Name: Ali
clrser(); Fname: Hammad
printf(“Name: \tAli\nFname: \tHammad\nMarks: \t1000"); Marks: 1000
getch();

ST
(Operators) J 24T
cotlt Codlt rids K 2k S 4T Ay Coperand) Sz 28w 5L fegT
‘e L B 124l
(Assignment operator) /‘./'T_‘,ﬂ"w °

(Arithmetic operators) ~ J /‘:/'T.ﬁ_';( A e
(Logical ‘operators) J /‘g.cf&’ .
(Relational operators) J /L;TJA/-‘-J °
sy Seobond ey

(Assignment Operator) jzTe#4
bl LR e pud 2285 Lve bW Ubnd Lo SRS =315 L g T
int sum = 5; o o1 b & T A ét@(jf&):/lkg{d/.i/.-q_

Seens#s 2d Lsum SIS oo L2 o S8

int sum = 6;

int var = sum;

B8/ evar i ped Ssum LA ASE 6 = Ssum JId &
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_cﬂ/r(swap).J."_JLj:L,-?’Tb’;_lF‘_; d,?:’J J,;J,'f:rlnj.'u':’b (! /uehgl :Jl'/

#include<stdio.h>
#include<conio.h>
void main()

{

clrscr();

inta=2, b=3, temp;

temp = a;

a=b;

b = temp;

printf(*Value of a after swapping: %d\n.", a);
printf(“Value of b after swapping: %d\n:", b);
getch();

Tw‘?_ndb?léﬁﬁ;;f_f{;;uj—,ﬁ:_uﬁg

( Arithmetic Opcrators) }/’_/'TJE:”J'

ﬁ:LféJI‘JJL;”;J‘_EQTﬁ;idsqdie;ﬂ-uﬂlﬂdb}lé:f.i../rb’&f';;.;(iﬂ/&{;_ﬁ{ﬂ

..'Ltf(u‘:;
v rt 4T
_g_rndla;lé_[.i_/(:-;:_:agd/_})tﬁur:.gdii)uﬂ, k‘,fgr:;- /
-gtxdﬁ'}l:}_“ﬁ'@:.fﬁfuff-u: '_475'..,,/5 .
-.';_r::du-;—i_iﬁi.fb"fu;—fu, i{__ltb’t" +
__Lr/Jj;_j)uﬁ:f.-‘EJ._s)Lfg, ﬁa;f{;?j -
b_;.;‘t:"df;éﬁ&é./ﬁd:x/‘.‘bgd’d)gfb!(..'--EJJ/‘L{{:
ﬁ/TKan'I. x
=
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(Division)(-j

= floatresult =3.0 / 2.0; it/ L2 d i fof e d g AU T8
S p L Lo 22 Wbt i E T A S puin S T S EK P L e
float result=3/2; St 52000 $3S bl

e result 2L At ed 1) o poree 1 260 AL izt S e ine L Udn £
Socizlenernfilioctos# UL result 251.0 i e tondtr fited (D) e
float result=3.0/2; :q//f/,JUJ_;',;/pJif.g,._tgcmf.{’t'.:,};u_(i );_/,:l/f?u_?zl_gt/
&1 S S result 2~ LSS 5uu
-z_u/:..-'EJ-‘a:‘lg.L_’ir:/,/,m-é_;/,uqu_J,sum:lﬂJJ@/,rfﬁv_flé:-!lgzu:‘iru",/,.‘_ﬂzdt‘z

Program
#include<stdio h>
#include<conio.h>
void main()

{

clrscr();
float box_price, num_of_chocolates, unit_price,
printf(“Please enter the price of whole box of chocolates:");
scanf("%f ", &box_price),
printf(“Please enter the number of chocolates in the box:");
scanf("%f ", &num_of_chocolates);
unit_price = box_price / num_of_chocolates;
printf(“The price of a single chocolates is: %f ", unit_price);
getch();
}
Output
Please enter the price of whole box of chocolates: 150
Please enter the number of chocolates in the box: 50
The price of a single chocolates is: 3.000000 )
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(Multiplication) -/~

int multiply =5 * 5; (e o AU A e p TS A VLN T
Seun 2522 Smuttiply) 1S s L aTn 4o U
-2_U/;J;b’d:.x//'u{}m&.y,uu#gjl}g/;IJI,JJ;):“‘.’;?U':'J‘JJ;/'.{I:J&

Program
#include<stdio.h>
#include<conio.h>
void main()

{

clrscr().
float length, width, area;

printf(“Please enter the length of rectangle:”);
scanf(“%f ", &length);

printf("Please enter the width of rectangle:");
scanf(“%f *, &width);

area = length * width;

printf(“Area of rectangle is : %f ", area);

Output

Please enter the length of rectangle: 6.5
Please enter the width of rectangle: 3
Area of rectangle is: 19.500000

getch();
)
(Addition) &
int add = 10 + 10; 1 e 0 S i s+ e TEE
, S 202 fadd B
-LU’u'd_;ﬁfc,'/’u;/gmiLqu’;.;)g‘]/ﬁdtﬁfuzufiﬂ/u'.{l:‘,‘t‘/
Program

#include <stdio.h>
#include<conio.h>

void main()
{
clrser();
int sum, math, science; Output

printf(“Enter marks of Mathematics:"),
scanf(“%d", &math);

printf(“Enter marks of Science:");
scanf(*%d", &science);

sum = math + science;

printf(“Sum of marks is : %d", sum);
getch();

Enter marks of Mathematics: 90
Enter marks of Science: 80
Sum of marks is: 170
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T W Ceaelndid L& 501Ut edda i pazas ;e
et UL L8 SN2 2 Sa i p—-a; | a—— L AT Pl

(Subtraction) JJ ¥
int result = 20 - 15; :4-q_rf3j/}e,4sfJ_ﬂ:;i‘qgh,{l,(-)ﬁ;;fr&j

e Qb ss=d Sresult 2> mLL S P

(Modulus Operator) ﬁ'{,TuJ 1!
.;_,fll.‘li_i/."-':'if_{idgﬂ:}l._{_tl.’)ﬁ;d“[.dlsép.‘é:ﬁ:;mc'_t'/rr‘.'.f.;i:;;;:lu:‘;)fj'g;:iUfi_.(:’.)ﬁz;fdﬁt
int remaining = 14 % 3; =

_Jr. 2 ;-J_;Jremaining u@dz_,;_&ka’é&l_. 2 ;L,[,f]‘:'-;; 3514 (7)1
,c_.)/rrb".ué‘f_ﬂi.fuv:’f,&.,;l'faiibfﬁ’iﬁ.)__/_*f,cJFujﬂLﬁJrI;u;.,_ff:Jﬁ‘

Program

#include <stdio.h>
#include<conio.h>

void main() G
| clrser(); Enter a number: 789
int num, digit; Right most digit of number you entered is: 9

printf(“Enter a number:"),

scanf("%d", &num),

digit = num % 10;

printf(“Right most digit of number you entered is; %d", digit);
getch();

}

E-Dﬁéy:(f)“y Lﬁ'..‘LL'/JL-:’IIL-}:.I;Ln/)!:éiﬂéf&ﬁrk.{la.xl’ggfwﬁﬂu:éf@C .':/rl
_f_r‘T(Complicr Error).v_l;ylﬂé..é;jhe;;: x3 f Xxexex

LS Lo L3 TS s
(Relation Operator) J 2T,

gszuﬁfwz.fc.jt':;;‘_,;fﬁ,-‘_,r_r.?_f.-;lrrﬂé Lo S P vens u;fu;f./j;}i-"-’;
SaosprsfeTF =03 L2t char i S g2 EGR 6 oc ddve Sre il rmad Lo anu
st EJZ Sy Jﬁ@f’ﬁ WG lle!
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o7 AL
esisl ==
‘auﬁ‘}/.'/..ﬁ '=
wlic >
e .
AV D= e
/.'/.Lfc, <=

- - & ., Bl &y ol K3
75 (True) é‘#_.{l/’hu_‘!'c__uf_‘ Lﬂ(b"'!-_é)(ﬁ/,’glot’iulwl’r:l’lﬂfg Y 2R LIy J/-'J'-J
-g_;.&Lgd/,:tEc-_. Oai"?n(Falsc)hL‘/"mlJﬂl.'—f

o L}Z‘l u‘dﬁ’-{’ﬂ!
True $ L5 4145 5==5
True ?£7‘¢JE/’/J/:5 5!'=7
False TS 5>7
True feTetbi#is 5<7
True LS abetss S>=s
False ?£4";/,I/.l_,'al':‘,'5 5<=4

YO Y L (==) el T S (=) e TeH oy
O R (=) T L som(=) T b
B 2T (2)8 - S Setr i d LEbd el u(u-“/;’-r'»j-ﬂ(==)«ﬂ (R
SNk oS AuIn L et S G=2) T Cequal) S A1t/ o o Sl i A R
et S e s S S =) T S S
B E S I L Ly FHR S S primt
printf(“%d”, 5 == 5); // This statement displays 1
printf(“%d”, 5 > 7); // This statement displays 0
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SIS LI T
(Logical Operators) j 24 Td

CR LTI e tn IS 2 E Limaes et f R Ty Rt A0 &
F o i piire Febop 10 L LA A S ie Ll Pttt iz
bt L6 I S gt

6)-'-"; #4T
Logical AND &&
Logical OR [
Logical NOT ' !

(&&) (4T AND
o .&:,.‘ J U (true) = ﬁﬁ;‘-{l Ut e Uiz yn it /ﬁ/.fgl uf-’:f » (&&) /'f./jAND
e VWO #92 e TAND - tT 86t 27 (false) sl 24177 ekt

)y 224 il 12450
False False && False
False True && False
False False && True
True True && True

(I x4Tor
F12d L T OR —ebrzrnd 2 n(true) U»cﬁ{-(l..{lﬁlﬂ)'q_@ iy 9 %4TOR
RN

i 2441 4 1

False False Il False
True True I False
True False Il True

True True I True
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O z4TNOT

J<(false) sk o St sle o Sl ot (true) -:./uc..l._....‘c.t/r.:z]ll;f J-:-EJJ“K-(’J!/&‘;T NOT
_.;.L-"L:uﬂdjpg}u’é L/"...;T-?E-’t’, P
) pvis Kk

True ks False

False ! True

S p g
_g.r/;u;/n"’ LJ;’:.,;I'Jp;..JA d’u:’ﬁ‘uk:.d Py

-7 I }j-.;'f(?:'
False Ce B8 I127AND c-4c b3 3<4&&7>8
True Sel¢ 123 OR Lde 4143 3==4|3>1
False (L4122 0R & 2¢.144) NOT (4>2)12==2)
True (=-2&1%1)NOT AND L6 4144t 556 6<=6&&1>2)
True (L0e 1kt 1NOT OR-9<-1%8 8>9]11(1<=0)

:f(_..,.-uf&”-g.[}.f(Shon circuit evaluation) ;f:’,&gl_'f/.:-xltéﬁ-"'d

rl skt 2 AL P R g7 (False) s oty 3 P SAS 2 TR R nZ SIS 2 TANDS e
&
,ﬁ.:/;)__.l)?ﬁi-’éupg,zf,’g”){;ﬁ (!l’uc);fﬂ.‘?IJUJ)U_*’!.Jf:,;fggj;’-rlz_ﬁz_jwj//'_,;T OR/’I ]

Sy-ma's

e O TS A s e TS0
(Unary vs Binary Operator) J 2Ty L 6<($/¢
eI U T SR e el i T 0
(Unary Operator) Jx,T$/¢
Tl s bt L1852 L TONOTE 2 i Lnt S0 F 4T L1525 24T 6
-5 e S S T8
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(Binary Operator) jx(T6 7}

-w//nd/L/;/IJ/J'un_ﬁ/Arv 1= -q_dn..w/d’u‘/rlué.éa_/‘//t,C,-_/Tdft
TS AN 1 &8s e TF
(Ternary Operator) A4Ty//

-4.?/((4)1&4:4;5-24. (Temary Operator) /’../,Td/'}._{luté':@.ﬁl/’:/'d
te S bedivlia e R CHIS e e GrdipgT v
(Operator Precedence) é/’J)/u,T

LLETIfEen Ly S LL S ebap drisifpgimice Litl AN

Yy
% T l;.))’u{biné/o".flg(//ur b’rgfé;c_,//l;/»ua.uhé/«,(//lJ_c_urd:(:/

& v, Lyl S s}
1 ()

9 |

3 o

4 +,-

o} >,<,>=,<=

6 ==, |=

7 &&

8 [

9 =

JSSN8/ 2034723+ (50a): )

=18/2*3+7%3+(5*4); () o ek rde
=18/2%3+7%3+20; | S e
=9*%3+7%3+20; ko En v A
=27+7% 3 +20; % Enf p T A
=27+1+20; + Cn S WA
=28 + 20; i Cn S KA

=48;
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-.:«Ulrdli"'m,?/:l Ay

D € B A =y V4
14 char float int et i ..‘/'/'l‘;ib’() printf | 1
4 uﬂ: S1A 5 - — JC)Q.C'II:/' Cscanf| 2
o char float int e bnJind L& i o iygetchO)| 3
2U(K_J&2Ja,é~”ﬁi_x¢):.(}.f’j,_.b’(codc)}/
8.2 8.0 8 8.8 4
inta=4;floatb=22;a=a¢®b;
P line = this i & 1 v
fd’df 1nea “nel.s = grade = A, | int=20; ?g.dll;/ugﬁfo’u:(aufdi.?/ﬂ 5
! > = / ?_c,::gjc,__./éfjf‘./‘fgf(cufu! 6
AL ’.,;I'J‘/-f'/ oA /‘:/'T_ﬁ_-/ﬂ :‘c.J.-’.(Do(/’./jdufr_gﬁng,uﬂ 7
&y P S ) e bl L6 gpT| 8
LY ‘9’ “q” “here” RO - LB ANule iz | 9
Al
S s
’ < 7 ’ - /'J)béft y 2 & j
SIS | SFuny | e teendtTS L d LB | 10
| e
Y19 '..f,l L
x|
=
1 4 5 6 7 8 10
D A B B D B B C A
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S W2 A iy

s 532000 it d S A 1L Q
s/ e s Bl fe B it ik (2
we/ 2 s e gt L LS RALR G
s/ erss -‘at'xdlr;t.{_f.é.'/,ult‘a_jb’(j selegetch() (4
W/ s -q.tndb‘:"é.é‘f-/‘,l’q.:aﬁ scanf (5
AR

1 2 3 4 5

Ll = s =2 sk

Sippuy 33 £
Sy 29 £
-u_/t/;.b‘?u{r 33 /.ﬁ”
Sipuy 31 AF
LUy, 39 A

Sy 31 A
S uy, 29 A
-u_’/L/',blL/' 29 A+
-Lj b, 33 A
S pu, 36 £
S by 39 AF
RPN L W o
S pu, 82 AF
-gﬂ)&ﬂ/, 40 /.}’
S by, 43 A

LIPS g 3 2
L reE (1
Fe il (2
SELG
scanf (4

ﬁ,;?u"sﬂ (s

SSNST YOI S VIVL YTy I
: *e 0/ geteh() ust scanf() (1
feteUid L&/ ﬂw:f,\;sf,;q/‘g‘ﬁ(/uﬂi,@d @
S fudobifiiar ee it 24710 (3
?q-u[-,»/d'u'u.’"?cl-?'/:?.,!: (4
.2 gV Pt u:f‘-/,f.ﬁ:“-’ 4 (5
AL p T, (6
e LJes i T (3
SO/ R g TS F \mifey TS24 (8
S IMEATmplen O
Yenbieer GIS T RER Coe Ve §38524T (10
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a) #include<stdio.h>

void main()

{
intx=2,y=3,z2=6;
int ans1, ans2, ans3;
ans1=x/z"y,
ans2=y+2z/y*2,
ans3=z/x+x"y,
printf(*%d %d %d", ans1, ans2, ans3);

b) #include<stdio.h>
void main()
{
printf(*nn \n\n nnn \nn \n t \t*);
printf(“nn /n/n nn/n\n");

c) #include<stdio.h>

void main()
{
inta=4, b;
floatc=2.3;
b=c"*a;
printf(“%d", b);
}

d)  #include<stdio.h>
void main()
{
inta=4*"3/(5+1)+7%4;
printf(*%d", a);

N e TSP I L3025 2 iy

Output:
nn

nnn
n
t nn/n/nnnin

Output:

Output:
5
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e) #include<stdio.h> Output:
void main() 4 ’
{
printf(“*%d", (((5 > 3) && (4 > €)) || (7 > 3)));
}

S kU St ES 6 Ay

a) #include<stdio.h>

) : Error:
void main() Value of variable a is not
{ initialized.
lglt a, E/=21 3 Inverted comma is missing after %d
=ahd,
printf(“Value of b is: %d, b);
)
b) #include<stdio.h> Error:
void main() Semicolon is missing after int
{ variable. Invalid syntax of a + b = ¢;

inta, b, c, :
printf(“Enter First Number:");
scanf(*%d", &a);

printf(“Enter second number:"),
scanf(*%d", &b);

The correct syntax is c=a+b;

a+b=c
}
c) #include<stdio.h> Error:
void main() Double quotes missing in printf
{ _ statement and } has extra ;
int num;
printf(Enter Number:"),
scanf(%d, &num);
2
#include<stdio.h> £
. . rror:
:oud meing) Square bracket is wused instead of
parentheses. In printf statement float variable
float f; is used with %f in scanf instead of %c.

printf"Enter value:”};
scanf(*%c", &f);
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Basic Salary = Pay Rate Per Hour X Working Hours of Employee
Overtime Salary = Overtime Pay Rate X Overtime Hours of Employee
Total Salary = Basic Salary Overtime Salary

+

g F mblobuF S (eSS b Laqn EE fron L pibon o ért’;ﬁf Nl p1ls4k

q.[/#i,;

Program

#include<stdio.h>

#include<conio.h>

void main()

{ clrser();
int wh,oh,rate_per_hour,otrate basic_salary,overtime_salary,total_salary;
printf("Enter Working Hours of Employ:");
scanf("%d",&wh);
printf("Enter overtime working hours:");
scanf("%d",&oh);
printf("Enter rate per hours:");
scanf("%d" &rate_per_hour);
printf("Enter over Time rate per hour:");
scanf("%d" &otrate);
basic_salary = wh*rate_per_hour;
overtime_salary = oh*otrate;
total_salary = basic_salary+overtime_salary;
printf("Total salary is = %d" total_salary);
getch(),

}

Output

Enter Working Hours of Employ: 20

Enter overtime working hours: 10

Enter rate per hours: 20

Enter over Time rate per hour: 10

Total Salary is = 500




...."_l[.'u.*-a;..‘.«ff»lg.fl.tigﬂ..‘.ﬂc)ﬁfaﬂi..;:»Juslt'..{rul’ L&le[&)l,’en btif&-’iuﬁrlﬁ,;b_ﬁ'zf
9 s ’
F= g C+32 -.q...._.«U)’Jli(ol..)u_'),f'(,t.:ﬁc}zfia—ifdrfaﬂig»

Program
#include<stdio.h>
#include<conio.h>
int main()

{

clrscr(),
float celsius, fahrenheit;

printf("Enter temperature in Celsius: ");

scanf("%f ", &celsius),

licelsius to fahrenheit conversion formula

fahrenheit = (celsius * 9/ 5) + 32;

printf("Celsius =%.2f Fahrenheit=%.2f ", celsius, fahrenheit);

geteh();
}
Output
Enter temperature in Celsius: 37
Celsius = 37.00 Fahrenheit = 98.60

e ST tnen S e printt L2, Sy L3y

1 2 3 4

Program
#include <stdio.h>
int main()
{

printf(" *\t "\t "\t *\n1\t 2\t 3\t 4");
}
Output

* - L *

1 2 3 4
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| am a Boy
| live in Pakistan
| am a Proud Pakistani

Program
#include <stdio.h>
#include <conio.h>
int main()

clrscr(),
printf("{ am a boy \n | live in Pakistan \n | am a Proud Pakistani");

getch(),
}

Output

l am Boy

| live in Pakistan

| am a Proud Pakistani

cdS Loz iy li-e 80 Fsc bunotoLiog e 9154 T i W50
:w,ﬁJ’IJJ}Lﬁ?urf;J&ﬁm t)/(J‘I'G-J/‘JL;J?U»l

Shirt1 = 432
Shirt2 = 320
Shirt3 = 270
Shirt4 = 680
Shirts = 520

SIS s L L SsF Ui So o
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Program

#include<stdio.h>
#include<conio.h>
int main()
{
clrser();
int shirt1 = 423, shirt2 = 320, shirt3 = 270, shirt4 = 680, shirt5 = 520;
float totalprice, totaldiscount, finalprice;
printf("First Shirt price: %d \t\t Discount is %.2f \t Payable price: %.2 f \n" shirt1, (shirt1*0.15),
(shirt1-(shirt1*0.15)));
printf("Second Shirt price: %d \t Discount is %.2f \t Payable price: %.2f \n"shirt2,
(shirt2*0.15), (shirt2-(shirt2*0.15)));
printf("Third Shirt price: %d \t \t Discountis %.2f \t Payable price: %.2f \n" shirt3, (shirt3*0.15),
(shirt3-(shirt3*0.15))); .
printf("Fourth Shirt price: %d \t Discount is %.2f \t Payable price: %.2f \n",shirt4, (shirt4*0.15),
(shirt4-(shirt4*0.15))).
printf("Fifth Shirt price: %d \t \t Discount is %.2f \t Payable price: %.2f \n" shirt5, (shirt5*0.15),
(shirt5-(shirt5*0.15)));
printf("\n\n ; \n");
totalprice = shirt1 + shirt2 + shirt3 + shirt4 + shirt5;
totaldiscount = (shirt1*0.15)+(shirt2*0.15)+(shirt3*0.15)+(shirt4*0.15)+(shirt5*0.15);
finalprice = (shirt1-(shirt1*0.15))+(shirt2-(shirt2*0.15))+(shirt3-(shirt3*0.15))+(shirt4 -
(shirt4*0.15))+(shirt5-(shirt5*0.15));
printf("Total price: %.2f \t Total Discount is %.2f \t Final price: %.2f \n" totalprice,
totaldiscount, finalprice);

getch();

}

Output

First Shirt Price : 423 Discount is 63.45 Payable price: 359.55
Second Shirt Price : 320 Discount is 48.00 Payable price: 272.00
Third Shirt Price . 270 Discount is 40.50 Payable price: 329.50
Fourth Shirt Price : 680 Discount is 102.00 Payable price: 578.00
Fifth Shirt Price . 520 Discount is 78.00 Payable price: 442.00

Total Price: 2213.00 Total Discount is 331.85 Final price: 1881.05
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Prograrﬁ
#include<stdio.h>
#include<conio. h>

int main()
{
clrscr();
int a=10, b=20,

printf("Before swap a=%d b=%d",a,b),
a=a+b; //a=30 (10+20)
b=a-b; //b=10 (30-20)
a=a-b; //a=20(30-10)
printf("\nAfter swap a=%d b=%d" a,b);
geteh(),

)

Output

Before swapa=10b =20
Afterswap a=20b=10

S 12 LSG i § FT gt st A UI:urJS-rSﬁJij rrf,{,-,fr:? ¥

Program

#include<stdio.h>
#include<conio.h>
int main()

{

clrser();
int number,;
printf("Enter a number with length 5 digits: ");
scanf("%d" &number); .
printf("The sum of first and 5th digit is: %d", (number / 10000) + (number %10));
getch();
}

Output

Enter a number with length 5 digits: 12345
The sum of first and 5th digit is: 6
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Program
#include<stdio.h>
#include<conio.h>
int main()

{

clrser();

int monthly_income, electricity_bill, gas_bill, food_expense, monthly_Expenses,

monthly_savings;

printf("Please enter your Monthly Income: "); -

scanf("%d" &monthly_income);

printf("Please enter you Monthly Expenses: "),

printf("\n\n\tYour Electricity Bill: ");

scanf("%d", &electricity_bill),

printf("\tYour Gas Bill: "),

scanf("%d" &gas_bill);

printf("\tYour Food Expense: ");

scanf("%d" &food_expense);

monthly_Expenses = electricity_bill + gas_bill + food_expense;

printf("\n\n\t Total Monthly Expenses are: %d", monthly_Expenses),

printf("\n\t Total Yearly Expenses are: %d", (monthly_Expenses)*12);

monthly_savings = monthly_income -monthly_Expenses;

printf("\n\n\t Your Monthly savings is: %d", monthly_savings);

printf("\n\t Your Yearly savings is: %d", monthly_savings*12);

printf("\n\n\t Average saving per month: %d", monthly_savings),

printf("\n\t Average expense per month: %d", monthly_Expenses),

getch(); s o
}
Output
Please enter your Monthly Income: 63000
Please enter your Monthly Expenses

Your Electricity Bill 1 2300
Your Gas Bill i 500
Your Food Expense : 22000
Total Monthly Expenses are ! 24800
Total Yearly Expenses are : 297600
Your Monthly Saving is ! 38200
Your Yearly Saving is ; 458400
Average saving per month : 38200

Average expense per month i 24800
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Enter character: a
Enter steps: 2
Enter character. c

Program
#include<stdio.h>
#include<conio.h>
int main()

clrser();
charc;
int steps;
printf("Enter character: "),
scanf("%c" &c),
printf("\nEnter Steps: "),
scanf("%d" &steps);
int x = ¢ + steps,
printf("\nNew Character; %c" x),
getch(),
}
Output
Enter character: a
Enter steps: 2
New Character: ¢

e FETR et Soyude gt Lsgend Radivs) yis Loz P Sy Li100”

Program
#include<stdio.h>
#include<conio.h>

int main()

{
clrscr();
float radius;

printf("Please enter the radius of circle: ");

scanf(" %f ", &radius),

printf("\n Area of circle is: %.2f", 3.14"radius*radius);
y getch(),
Qutput
Please enter the radius of circle: 20
Area of circle is: 1256.00
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#include<stdio.h>
#include<conio.h>
void main()

{

clrscr();
printf(l am UPPERCASE and this is lowercase”),

getch(),
}

Output

| am UPPERCASE but this is lowercase

_.}.'Fr'l/:.;é.éi_l/;uf(lawar case) L4921 f 31l (upper case )u‘fz,l.»u,;rrc;.u,cp‘ 220/,

#include<stdio.h>
#include<conio.h>
int main()

clrser();
printf("MUBASHIR hussain”);
getch();

}

Output

MUBASHIR hussain
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Roll no : input value
Percentage : input vaiue %
Grade : input value

#include<stdio.h>
#include<conio h>
int main()

{

clrscr();

int roll_number;

float percentage;

char grade,

printf("Please enter your Roll Number: ");
scanf("%d",&roli_number);

printf("Please enter your Percentage: ");
scanf("%f ", &percentage);

printf("Please enter your Grade: "),

scanf(" %c", &grade); // All use SPACE before %c like " %c" not like " %c ");
printf("Roll no \t \t:\t \t %d \n",roli_number):
printf("Percentage \t:\t \t %f \n" percentage):
printf("Grade \t \t : \t \t %c",grade);

geteh();
}
OQutput .
Please enter your Roll Number : 36
Please enter your Percentage 89
Please enter your Grade : A
Roll no : 36
Percentage i 89.000000

Grade : A
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#include<stdio.h>
#include<conio.h>

int main()

{
clrser();
intn;

printf("Enter any number: ");
scanf("%d",&n);
printf("\nArea of Square =%d",n*n);

getch();
return O;
getch();
}
Output

Enter any number: 6
Area of Square= 36

2 PP IS sl bt IS usidszr LB st A doz™ IR XN

#include<stdio h>
#include<conio.h>
int main()

{
clrscr();
int a,b,sum=0;
printf("Enter number of balls in Jar A:"),
scanf("%d" &a);
printf("Enter number of balls in Jar B:");
scanf("%d",&b);

sum=a+b;
printf("Total Number of Balls = %d" ,sum);
getch();
return O;
}
Output

Enter number of balls in Jar A: 10
Enter number of balls in Jar B: 15
Total Number of Balls = 25
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#include<stdio.h>
#include<conio.h>
int main()
{
clrser();
int op,dp;
Ml . N Output
punt( E ntfr Ongnal Pricgiehghir =) Enter Original Price of shirt 280
scanf("%d",&op); ) ,
rintf("Enter Discount in percentage"); Enter Dissaunt In pescentags 10
P P il Original Price of shirt= 290

sc_anf{l % _,&dp), ) : " Discount on Shirt= 29
printf"\nQrignal Price af:shirt = %d".op); Price of shirt after discount= 261
printf("\nDiscount on Shirt = %d" dp*op/100);
printf("\nPrice of shirt after discount = %d",op-dp),
getch(),

return O,

.LU’J.;;.:.ST)::_J..‘..Rc_.::..x-tc../:Jf:..ﬂ-ﬁ;)fé_qulﬂivl)urBZ-;.szﬁgfdﬁ;h;u_(l 12.761"/

#include<stdio.h>
#include<conio.h>

int main()
{
clrscr();
int digit1, digit2;

printf("Please enter the first digit number: "),

scanf("%d" &digit1);

printf("Please enter the second digit number: ");

scanf("%d" &digit2);

printf("\nProduct of first and second digit is: %d", digit1*digit2);
getch(),

}

Output

Please enter the first digit number: 6
Please enter the second digit number: 5
Product of first and second digit is: 30
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#include<stdio.h>
#include<conio.h>
int main()
{
clrser();
float seconds, minutes, hours;
printf("Please enter the seconds: "),
scanf(" %f ", &seconds);
minutes = seconds / 60;
hours = minutes / 60;
printf("\nTotal Seconds: %.2f\nTotal Minutes: %.2f\nTotal Hours:%.2f" seconds minutes,hours);
getch();
}

Output

Please enter the seconds: 234

Total Seconds: 234.00
Total Minutes: 3.90
Total Hours: 0.07

GldrrAA SRS Aoes S,

x =6y + x
x=yza+3y
2
Z=X+y—
3x
z=(x-2)2+3y
y:(x+3_z. )+ 3 i
2 z
Solution:
x=06%y+2

x=y'z*z"z+3"y
Z=x+y*'yl3*x

Z=(x-2) * (x-2)+3"y
y=(x+3*z/2)+z*z"z+x/z




18/(15-3*2)
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y=7,x=3 o L Skl 0 B LA A T 64 2108 S
(2+5)>y (x+4) == y
x = (y-4) (y/2)>= x
1<x (x*3)<= 20
Solution:
(2+5)>y False (x+4) == True
x = (y-4) False (y/2)>=x True
-1<x True (x *3)<=20 True
LA x=4,y=7, 228 LSS L g /S 2y
x==2 ||y== ?):y&&z(S
z>=5 || x<=-3 y == 7 && !(true)
xl=y |[y< 5 I(z>x)
Solution:
x==2|y== False 7>=y8&8&z<5 True
z>=5 || x<=-3 True ==7 && !(true) False
XI=y ||y<5 True Hz>x) False
S ez LA g 21287,
—— JJ& Ay J/r
T+3*(12+2)
25%3"4
34-9%2/(3*3)
18/(15-3"2)
Solution:
16 /(5 + 3) =2
7+3*(12+2) = 49
25%3*4 =4
34-9"2/(3*3) =32
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int %dor%i
float % f
char % ¢
TJ P 1 J_/" U7 int age = 35;, float height=5.8; Jis
printf(“My age is %d and my height is %. 2f”, age, height); 7
My age is 35 and my height is 5.80
s YPoeasTS ni6
#include<stdio.h>
void main()
{
printf(“Sum of 23 and 45 is %d"”, 23 + 45);
)

Sum of 23 and 45 is 68 W2
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#include<stdio.h>

void main()
{
inta=2,b=3, temp;
" temp = a;
a=b;
b = temp;

printf(“Value of b after swapping: %d\n:, b);
printf(“Value of a after swapping: %d\n”, a);

}
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int multiply =5 * 5;

e 4B S oS B St A 2T
float result=3.0/2.0; :&&.
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Logical AND &&
Logical OR ||
Logical NOT !
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False True && False
False False && True
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False False | False
True True | False
True False I True
True Truc | True
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True ! False
False ! True
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scanf()

getch()
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Syntax: clrscr ();
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e e Ui 2t a2 S A
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True 6 1
True 6+3 2
False 6-6 3
True 6>5 4
False 6== 5
True (5>6) 6
False (6>5)&& (10<9) 7
True (6>5)(1(10>9) 8

e P (True) rnbi=1 s a= 1H e Srermnspradd 2 HAES
Ln L S0 S S ot mar e LU Fi o Ut F e (False) 6 ¢ = 0 450
-{-Jc'edlﬁ' A/ 6 SF A
BF AT e ik En a6 e SIS E B S 3
(e B 2 1
( Start ]

[F
Condition

False

Associated Code

4
4

( Stop ]
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S Somtl (U 2) Su () LU LIszptire o if ;’Jw..-g;;,.{n(?,ﬁ
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#include<stdio h>
void main()
{
inta=12;
if(a% 2==0)
{
printf (“The variable a contains an even value.");
printf(*\nYou are doing a great job."),
}

}
Output

The variable a contains an even value.
You are doing a great job.

J"}{primf uy’»fy;»l‘q_..:.-—u b ;Jm'l ..L...Ji’ if ./ HJ,L.;.C;’- ] F.T;ttyl,-"f-'”c. 2 :(I 2 :.-E..-)

Zu:/n’; ,;._Jl"'/d_' 32 sA K T,,lf,; Vf:*/u;ﬁ)liy'iwli-'ﬁ(&fﬂJ/:})J&{}

#include<stdio.h>
#include<conio.h>

void main()

{ cirscr();
inta =4, : el i
intb=5, ; You are doing a great job.
if( a > b)

printf (“The value of a is greater than b.");
printf("nYou are doing a great job.,");
getch(),

S il (LS E) Ji () it 2 B et eonb fle
,.Lrg,g.,.y“;uéﬁir/.:.ﬁf"&f..J/di(xf.u:ur*.fzn."):’).."a{}u’(i-’.f{(xfx,
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Program

#include<stdio.h>
#include<conio. h>

void main ()

{

clrscr(),
float percentage;
printf ("Enter the percentage:"),
scanf (“%f " &percentage);
if (percentage > 50)

printf (“PASS\n";);
getch();

Output

Enter the percentage: 47

S Sogh e e 50,41 6407 1S3 i e a7 o2

Enter the percentage: 67 3
PASS - m

L/‘ul.cl'/.c..so.67.3 f:ﬁnc/‘/'"pass"/, (console) J:"(;(fd:.:f,ul 67.3 =2

'J’
=) Kd/;'
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B _f_Jtu"_.u.JLK;GJ:J;;Fdeaﬁ)ﬂEiJG{dlstth.{l:J
Gross Salary = Basic Salary + (Number of Items Sold x 8) + Bonus

K50 S1IUE K 549,10000 (Bonus) S 1 0 3PS Il ceskic 100 8T Stinit 251 J)

el (No. of Broken Items) L1012 531 (No of Sold Items) s4*=35/, Basic Salary ﬁd-f'ir'lfrs,;-l_’l

,.é.tcf..’.ul.\g:c‘b"wu!c...f.:f‘{: —L>¥ Gross Salary J,I'Jll- M gip g

Program

#include<stdio.h>
#include<conio.h>

void main()

{ clrscr().
int basic_salary, items_sold, items broken, gross_salary;
int bonus = 0;

printf("Enter the basic salary:"),

scanf(*%d" , &basic_salary),

printf("Enter the number of items sold:");

scanf("%d" , &items_sold);

printf (“Enter the number of items broken:");
scanf("%d", &items_broken),

if (items_sold> 100 &&items_broken == 0)

bonus = 10000;

gross_salary = basic_salary + (items_sold * 8) + bonus;
printf (“Gross salary of the employee is %d", gross_salary);
getch()

s

& T 0 S R T 1000 =51 ) i S e ST 851 0 Pyt Jovh 2 a0
Gross SesC-g tlsS17 10000 Srie il vtic 100 SFG 23N S et .
e lanie 100 AFS b s £l e VIR AL (UHLSR) JSb if U io¥Salary

s A2 Gross salary
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el 129 iy

| Start |

v
Bonus=0

INPUT
basic_salary,
items_sold,
items_broken,
gross_salary

No

items_sold > 100 &&
items_broken ==0

gross_salary = basic_salary + (items_sold * 8) + bonus

A4

Print
gross_salary

v
L Stop ]




80 Oy 3§ ey
DBy oS e s Lute e if-elses
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bt L o
‘e o S 2 if-else

:..;A:;GV_')? if-else if (P40
o/
( Start J H
else
False True s B a
Condition wlor’ e e i e e niiS
v v ._,J/.'c., A else 2u (ﬁ)"/)g}!/‘,jf
Code /\:Isiigaated Code l\:?iigaated LTl S
else statement if statement

[ Stop J

-z‘-_du/"t'n_'/'}?if & Lo else c/g:r.'.'/'t’f’else L _'/rlffg.u‘o

b et ECn LU ) S (J U ;Uﬂg}ﬁ%)yc.v_(l AL it N e 3-8 Else
..lc.t‘/(d/lg/ﬁ .Q)I'U'/{:.:u‘-'{_l:

Program:
#lqclud§<stdlo.h> Error
void main () else without an associated if
{
inta=15;

if(@% 2==0)
printf("The variable a contains an even value.");
printf("\nYou are doing a great job.");

eise <
printf ("The variable a contains an odd value."),
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S AL i 52 ML (UL SR S ()} £ o SU G
Fe § pog¥ o™ S L i printf (“ The variable a contain an even value”)§2e 2 (2 2v
ce S M i o else Lut-e U P e printf("\nyou are not doing a great job ")
Srdte cisesn-SPEd LL IS IE Sl e $nfpintie (VHLE2) Shif¥Shelse S o2y ki
pEL L (UELSE) T (M Ui
] (Compound Statement / Block) Slkye% 510

LS fspud L):Jwﬁig.ﬁ;.blk‘(ﬁ%ﬂ oot L g > i LUt
gl E S gy S K DKo Bandd S 7 LE e 1pie AT Ut g
e iz S B U )

Program

#include<stdio.h>
#include<conio.h>

void main ()

{ clrser();
inta=15;
if(a%2==0)
{

printf("The variable a contains an even value.");
printf("\nYou are doing a great job. );

}
else
{
printf("The variable a contains an odd value.");
}
getch();
}
Output

The variable a contains an odd value.
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&4 "DIGIT" w3t sl n L 9 < 04 S0/ Sio¥ e N e G s 2N ,_fu:u.“?u',/,v_( i
~c /&2, "NOT DIGIT" 2 et/

Program

#include <stdio.h>
#include<conio.h>

void main()
{
clrscr(); Qutput
char input; Please enter a character : 5
printf (“Please enter a character :"), | DIGIT
scanf (“%c” ,&input); 517 z-,,,,,;,._(u/uﬁ
if (input >= '0' && input <= '9") . K6 DIGIT 41 F7
{
printf (“DIGIT\n"); Please enter a character : k
} NOT DIGIT
else .
{ “NOT DIGIT" £ k<Z et St A SIS i
printf (“NOT DIGIT\n™); _{_wab/‘?,u,j,[étnﬁw
} .
getch():

}

ot S it E Ui D S U ettantie L0 Lo else L it N
-.;._Df'.ﬁr:_gﬂf_;y,g&u@_t‘/?«r"‘;k/u"_-,cu,‘.{l.)/)'gf)::
S e F I if - else - if 2

et FWW A SIS 2 if-else-if (£ C

if (AU
-:;.:/mﬁi’/ «,&‘;’LI'Q(AT/AV /'5/
else if (2200 /)

-2 ;ﬁi{;f? 1 S g/11 L(!LfATJ)V /'5:(

else if (X N)
) Ncﬁﬁ/‘;’-ﬁww@z}{@ﬂ?ﬁfa.byﬁﬁﬂ/éf
' else

-www‘ﬂfrt?ﬁf:‘:-qﬁf z
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Percentage Grade

80% and above A

70% - 80%

60% - 70%

50% - 60%

m|O|lO| @

Below 50%

Program

#include<stdio.h>
void main{)
{
clrser();
float percentage;
printf (“Enter the percentage:”);
scanf ("%f, &percentage),
{
if (percentage >= 80)
printf ("A\n"):
else if (percentage >= 70)
printf ("B\n");
else if (percentage >= 60)
printf ("C\n");
else if (percentage >= 50)
printf ("D\n");
else
printf ("F\n");

}
getch();
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t Sk oo iA P Ry
e ditnS2nEe LW Litclse )
if (249
oS
else
s/
NS e k. r...mc_.;v-l._UPC?.:_J—r_,rL.){J"'/)h), e 2 clse Lif
..f’uf-clm.L_./’lfovm-, (oS K &z A//;A'r_._.'uurlu.\_f//lr-tlbctﬂ
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B Nested Selection Structure 1 Nested Selectlon Structure 2
i L :
if (condition1 is true) I (condrt.lon‘[ 'S .1r.ue) :
. . ) if (condition2 is true)
if (condition 2 is true) :
- Associated code
Associated code
else ghe
Aesoriatad e if (confjltlons is true)
Associated code
Nested Selection Structure 3 Nested Selection Structure 4
if (condition1 is true)
if (condition1 is true) if (condition2 is true)
if (condition2 is true) Associated code
Associated code else
else Associated code
Associated code else
else if (condition3 is true)
if (conditions is true) Associated code
Associated code else
Associated code
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Bill Amount = Number of Units Consumed x Unit Price
il bix ad e ppden=f U
e evuicifeyd LA b LA b St fEpn nd ALl

Units Consumed Unit Price
Units < =200 Rs. 12
Units > 200 but Units < = 400 Rs. 15
Units > 400 Rs. 20

_cl_J?fza.,,L)Jt._-,fJ.yg Tl LB

Units Consumed Unit Price
Units < = 200 Rs 15
Units > 200 but Units < = 400 Rs 20

Units > 400 Rs 24
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Program:

#include<stdio.h>
#include<conio.h>
void main ()

{

clrscr();
Int units, unit_price, bili;
char user_type;
printf("Please enter h for- home user and c for commercial user: ");
scanf(*%c", &user_type);
printf ("Please enter the number of units consumed: ");
scanf(“%d", &units);
if (units < = 200)
if (user_type =="h'")
unit_price = 12:
else if (user_type= ='c')
unit_price = 15;
alse if (units > 20088& units <= 400)
if (user_type =="h") '
unit_price = 15;
else if (user_type =="'c')
unit_price = 20;
else
if (user_type =="'h')
unit_price = 15;
else if (user_type=="'c')
unit_price = 24;
bill = unit * unit_price;
printf(“Your electricity bill is %d" , bill);

getch();
}
e e Lol el 1Sl
Program
include <stdio.h>
void main()
{ int n1, n2, n3;

printf ("Enter three numbers");

scant ("%d%d%d", &n1, &n2, &n3);

if (n1>n2 && n1 >n3)

printf ("The largest number is %d", n1);
else if (N2 > n3 && n2 > n1)

printf ("The largest number is %d", n2);
else

printf ("The largest number is %d", n3),
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#include<stdio.h>
#include<conio.h>

void main ()

{
clrser();
int choice;
float volume:

printf ("Find Volume\n");

printf (“1. Cube\n2.Cylinder\n3.Sphere\nEnter your choice:");
scanf ("%d", &choice);

if (choice == 1)

{
float length;
printf ("Enter Length: ");
scanf (“%f ", &length),
volume = length * length * length;
printf ("Volume is %f " , volume);
}
else if (choice == 2)
{
float length1, radius1;
printf ("Enter Length: ");
scanf ("%f ", &length1);
printf ("Enter Radius: ");
scanf ("%f ", &radius1);
volume = 3.142 * radius1 " radius1 *length1;
printf ("Volume is %f ", volume);
} :
else if (choice == 3)
{
float radius;
printf ("Enter Radius: ");
scant ("%f ", &radius);
volume = 3.142 * radius * radius * radius;
prntf ("Volume is %f ", volume);
}
else
{
printf ("Invalid Choice");
}
getch();
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&=
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inta =5,
if (a<10)
a++:
Uﬁ’&/ U’;”A.g a-- at+; else 4
if (@a>4)
a--;
tfl oS L
a.fg.g}l?. :cﬁﬂdu‘{sg}:‘jiq;#
atc== aec==0; cza== azc== . 5
OU{LC‘_/.?(C
R S N L e Frht_ SHREL 6
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LS stm 2

L) bob, T4 I U a

L bu, 89 44 Vel 40

S Su, 89 A F ' DASEE G
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Jipu, 84 ¥ Arfus s

LrAZ A L5t 3
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qu)dw”‘"j’ S SEE @

allsl: Yallscd

IIIE e A WP bR PR | P of Bt S8 22
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U{V'.bu/, 74,80/)’ . -Q/Jflbﬁulﬁdﬂif-ehe PR <116
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Lend jc‘-!&:.é;;&ldgrﬂf LSS SIS LU NS Ay

Error: Invalid sign = in C language.

a) if(x=10)
printf ("Good");

b) if(a<bé&a b_‘ c); . Error: ; is not used in if statement
sum=a+b+c {Syntax Error).

else

muitiply =a*b * ¢;

c) f(a<7<b)

printf (“7°): Error: 7 is printing as string.

d) if(a== t;&“_‘_ ==Y) Error: Invalid syntax of AND and OR
I ag = true; operator (&1).
eise

flag = false;
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o) Tisum ==,60 l',l prodUC TWS) Error: Double quotes are missing at
printf ("Accepted %c), sum); printf ("Accepted %c), sum); and %d
else should be used instead of %c.
if (sum >=45 || product > 100)

| printf ("Considered %d" , sum);
else

printf ("Rejected")
- u..:z,caifd/j;ﬂj..pp:'&u‘
a) inta=7,b=10; Output: a=17, b=10
a=a+b
if (a>20 && b < 20)

b=a+b;
printf (*a = %d, b = %d", a, b);

b) intx =45;
if (x + 20 * 7 == 455)
printf ("Look's Good”);

Output: Hope for the Best

else
printf ("Hope for the Best”);

¢) charcl="Y', c2="N"
intn1=5n2=9;
ni=n1+1,
c1=c2;
if (n1 ==n2 && c1 == ¢2)
printf ("%d = %d and %c¢ = %c¢" , n1, n2, ¢1, c1);

Output: 6<9 and N=N

else

if (N1 < n2 && ¢1 ==¢c2)

printf ("%d < %d and %c = %c", n1, n2, ¢1, ¢c2);
else

printf ("Better Luck Next Time!");
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d) inta=34b=32c=7,d=15 Output: a=15360, b=224, c=22, d=484
a=b+c+d,

if (a < 100)

a=a"*2

b=b*¢,

c=c+d,

if(a>b&&c==d)
{

c=d;
b=c
a=b;
}
elseif(a>b&& c>d||b>=d +c)
{
d=c*¢
a=b"*b;
)

printf ("a=%d, b=%d, c=%d, d=%d", a, b, ¢, d);

e) intx=5y=72=9,

if (x % 2 == 0) Output: x=6, y=7, z=9

X++!
else
X=y+2Z,
printf (" x = %d\n", x);
f(x%2==188y%2==18&&2%2==1)
printf ("All are Odd");
if (x> || x<2)

{
if(x>y)
y++,
else
if(x<z)
X++;
}

printf ("x = %d, y = %d, z = %d", x, y, 2),
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Program

#include<stdio.h>
#include<conio.h>
#include <math.h>

int main()

{
clrser();
intni, n2;

Output

Input the first integer ; 9
Input the second integer : 3
9 is a Factor of 3.

printf( "Input the first integer : " );

scanf("%d", &n1);

printf( "Input the second integer: " );
scanf("%d", &n2),

if(n1% n2 == 0)

printf( "\n %d is a Factor of %d. \n", n1, n2 ),
else

printf{ "\n %d is not a facter of %d. \n", n1, n2 );
getch(); )

}

"Yes* 3154 Cunit price) (- SHK 1 aist UK 3 AagunS 1 mlcqn i Lins? ooyl 20”
e.g' 15,75, ..4../'&/.

Program
#include<stdio.h>
#include<conio.h>
#include <math.h>
int main()

{

clrscr();
intn1:
printf( "Input Any number " );
scanf("%d", &n1);
if(n1%3==0)
printf( "YES %d ,%d".n1.n1"5);
getch(),
}
Qutput
Input Any number : 15
YES 15,75 |
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Program

#include<stdio.h>

#include<conio.h>
#include <math.h>
int main()

{

clrscr();

int total_bill;

printf( "Enter your Total Bill :" ),

scanf("%d", &total_bill);

if(total_bill >=1000 && total_bill <= 2499)

printf("Discount = %d\nDiscounted Price =%f ",10,total_bill*0.1);
else if(total_bill >= 2500 && total_bill <= 4999)

printf("Discount = %d\nDiscounted Price =%f " 20 total_bill*0.2);
else if(total_bill >= 5000 && total_bill <= 9999)

printf("Discount = %d\nDiscounted Price =%f ", 35,total_bill*0.35);
else if(total_bill >= 10000)

printf("Discount = %d\nDiscounted Price =%f " 50, total_bill*0.5);

etch();
) getch()

Qutput

Enter your Total Bill : 10000
Discount = 50
Discount Price = 5000.000000




94 St 8 et

Jﬂ&:}{dljﬁg_‘/h,f'fq—mzﬂq—gf,/)L..‘.gulzﬂ.:}:) céz:lc—zd’l&:/(j’4z‘f¢rl[o4-,g .40"
o | P S

Program

#include <stdio.h>
#include<conio.h>
#include <math.h>

int main()
{
clrscr();
int cp,sp, amt;

/* Input cost price and selling price of a product */

printf("Enter cost price: ");

scanf("%d", &cp);

printf("Enter selling price: "):

scanf("%d", &sp),

if(sp>cp)

{

/* Calculate Profit */

amt = sp - cp;

printf("Profit = %d", amt);

}

else if(cp>sp)

{

/* Calculate Loss */

amt = cp - sp;

printf("Loss = %d", amt);

}

else

{

/* Neither profit nor loss */

printf("No Profit No Loss."),

1

getch();
}
Output
Enter cost price : 1000
Enter selling price : 1500
Profit = 500
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Program

#include <stdio.h>
#include<conio.h>
#include <math.h>

int main()

{
clrscr(),
int x,y,z;

printf("Input the three sides of a triangle :\n");
scanf("%d %d %d" &x,&y,&z);
if((x*x) + (y*y) == (z°2) || (x*x) + (2°2) == (y*y) || (y*y) *+ (z°2) == (x"X) )

{
printf("It is a right angle triangle!\n"),
}
‘else
{
printf("It is not a right angle triangle!\n");
}
getch();
)
Output
Input the three sides of a triangle :
7
3
5

Itis not a right angle triangle!
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Program
#include <stdio.h>
#include<conio.h>
#include <math.h>
int main()

{

clrscr();

int omm tmm,omi,tmi,ome,tme,

printf("Enter Your obtained marks in Matric :");

scanf("%d",&omm);

printf("Enter Total marks in Matric");

scanf("%d",&tmm);

printf("Enter Your obtained marks in Intermediate "),

scanf("%d", &omi),

printf("Enter Total marks in Intermediate :"),

scanf("%d", &tmi);

printf("Enter Your obtained marks in Entrance :");

scanf("%d", &ome);

printf("Enter Total marks in Entrance :");

scanf("%d" &tme); ‘
if(((omm*100) / tmm) > 60 && ((omi*100) / tmi ) > 65 && ((ome*100) / tme ) > 65)

{
printf("You are Eligible for Admission"); Output
} Enter Your obtained marks in Matric : 833
alse Enter Total Marks in Matric : 1050
Enter Your obtained marks in Intermediate : 804
{ N Enter Total Marks in Intermediate : 1100
printf("Not Eligible”); Enter Your obtained marks in Entrance : 72
} Enter Total Marks in Entrance : 100
getch(); Your are Eligible for Admission
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Program

#include <stdio.h>
#include<conio.h>
#include <math.h>
int main()

{

clrscr();

int salary,experience,bonus_task;

printf("Enter Your salary: ");

scanf("%d" &salary);
printf("Enter Your Experience: ");

scanf("%d",&experience);

printf("Enter Your Bonus task:");

scanf("%d" &bonus_task);
if(salary == 10000 && experience == 2 && Bonuswlask == 5)
printf("Bonus is = %d", 1500},
if(salary == 10000 && experience == 3 && bonus_task == 10)
printf("Bonus is = %d",2500):
if(salary == 25000 && experience == 3 && bonus_task == 4)
printf("Bonus is = %d",2000),
if(salary == 75000 && experience == 4 && bonus_task == 7)
printf("Bonus is = %d",3500):
if(salary == 100000 && experience == 5 && bonus_task == 10)
printf("Bonus is = %d",5000);

getch():
}

Output

Enter your salary: 10000
Enter Your Experience: 2
Enter your Bonus task: 5§
Bonus is = 1500
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Solution:
#include<stdio.h>
#include<conio.h>
void main()
{
clrser();
int teenager;
printf("Enter your age: "),
scanf("%d", &teenager);

if(teenager >= 13 && teenager <= 19)

{
printf("Teenager”),
}
else
printf("Not Teenager”),
geteh();
}
Output:

Enter your age: 16
Teenager
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Solution:

#include<stdio.h>
#include<conio.h>
void main()
{
int year,
printf(“Enter Year ' "),
scanf(*%d", &year),
if(year%4==0)
{
printf(‘Leap Year"):

}
else
printf("Not Leap Year"),
getch();
}
Qutput:

Enter Year : 1988

Leap Year
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Solution:
#include<stdio.h>

#inciude<conio.h>

void main()

{
clrser();
float temp;

printf(*Enter your body temperature : );
scanf("%f ", &temp),

iftemp > 98.6)

{
printf("You have fever");
}
else
printf("You don't have fever");
getch();
}
Output:

Enter your body temperature : 98.7

You have fever
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Solution:
#include<stdio.h>

#include<conio.h>

void main()

{
clrscr(),
int per;

printf("Enter your intermediate percentage : ")
scanf("%d", &per);
if(per >= 80)

printf(“Your are eligible to get admission in BSSE, BSCS and BSIT"),
else if(per >= 70)

printf("Your are eligible to get admission in BSCS and BSIT");
else if(per >= 60)

printf(“Your are eligible to get admission in BSIT");
else

printf(*Your are not eligible to get admission in University”),
getch();

}

Qutput:
Enter your intermediate percentage : 85
Your are eligible to get admission in BSSE, BSCS and BSIT.
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Choice . Operation
1 : Addition
2 Subtraction
3 ' Multiplication
4 Division

Solution:
#tinclude<stdio.h>
#include<conio.h>
void main()
{ ' .
clrscr();
inta,b,.c;
printf(*Enter 1st integer . ");
scanf("%d", &a);
printf(“Enter 2nd _intéger Y
scanf("%d", &b), )
printf("Enter 1 for Addition:\n Enter 2 for Subtraction:\n"),
printf(“Enter 3 for Multiplication: \n Enter 4 for Division: \nEnter choice”);
scanf(‘.‘%d-", &c),
iflc == 1)
printf("%d + %d = %d", a, b, a+b),
else if(c == 2)
printf("%d - %d = %d", a . b, a-b);
else if(c ==3)
_ printf(*%d * %d = %d". a,. b, a*b),
else if(c ==4)
printf("%d / %d = %d", a, b, al/b);
else
printf("Please enter value between 1 to 47);

getch();
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Enter 2nd integer : 3
Enter 1 for Addition:
Enter 2 for Subtraction:
Enter 3 for Multiplication:
Enter 4 for Division:
Enter choice 1
9+3=12
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(/) Area of trapezium

Area of parallelogram
Qi)

l

(&4>)Area of triangle

(a+b)xhx'

base x height

base x heightx '

/

e h d

£l o &
A=8

a s ]
b e I
h o -‘._—-___...

A=OtD, 242 o
2 2

A=6

b 2 2
h regn 3 o
Solution

A=bh=2-3=6
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Solution:
#include<stdio.h>

#include<conio.h>

void main()

{
cirscr();
int choice,
float area;

printf(“Find Area\n");
printf(*1. Triangle\n2.Parallelogram\n3. Trapezium\nEnter your choice:");
scanf(“%d", &choice),
if(choice == 1)
{
float b, h;
printf(“Enter base of triangle:");
scanf(“%f ", &b);
printf(“Enter height of trianglg'");
scanf(*%f *, &h);
area=b"h*1/2;
printf(“Area of Triangle: %f " area);
}
if(choice == 2)
{
floatb | h;
printf(*Enter base of parallelogram:”);
scanf(“%f ", &b);
printf(“Enter height of parallelogram:”);
scanf(“%f ", &h),




105 st 2§ et

area=b*h;

printf(“Area of Parallelogram:%f " area);

)
if(choice == 3)
{
float b1, b2, h;
printf(“Enter base1 of trapezjum.”);
scanf(*%f ", &b1);
printf(*Enter base?2 of trapezium:”);
scanf("%f ", &b2);
printf(*Enter height of trapezium:");
scanf(*%f ", &h);
area=(b1+b2)*"h*1/2;
printf(“Area of Trapezium:%f " area);
}
else
printf (“Wreng Entry. Please enter value between 1 to 3.");
geteh(),
}
Output:
Find Area
1. Triangle

2.Parallelogram
3.Trapezium

Enter your choice: 1

Enter base of triangle: 2
Enter height of triangle: 3
Area of Triangle: 3.000000
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data _type array_name[array_size];
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stored in array

identifier of
array
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int daily_wage | 7]; -u’é//‘)c_é’_)
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Data_type array_name|[N] = {value1, value2, valuel,............... ,valueN};
-9J/au:Jf~‘f.’ué‘l/,!J’-’/_"‘?A,Q_Jl.;ﬁ‘_)_ L1 25d (heighd) =8 S frabJets o it
float height [7] = (5.7, 6.2, 6.9, 6.1, 5.0, 6.5, 6.2);
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char vowels[5] = {"a’, 'e’, 'I', '0', 'U'};
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void main() ERROR: initialization whole array after declaration not
{ allowed

int array(5];

array[5] = {10, 20, 30, 40, 50); -
}
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float height [7]} = {5.7, 6.2, 5.9, 6.1, 5.0, 5.5, 6.2},
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Program

#include<stdio.h>
#include<conio.h>
void main()
{ clrscr();
int age [5],
age [0] = 25;
age [1] = 34,
age [2] = 29,
age [3] = 43,
age [4] = 19,
printf(“The ages of five persons are : %d, %d, %d, %d, %d", age (0], age [1], age [2], age [3], age [4]);
getch(); .

.é,U’J@;).‘;ﬁ}Ju/(Lyb»lJ—{J)Lqula.th/J»/J'bu.'cﬂlﬁ'4ﬁui"r!f:.g S

Program

#include<stdio.h>
#include<conio.h>
void main ()

{

clrser();
float marks (4], total_marks;

printf("Please enter the marks obtained in 4 subjects: "),
scanf("%f%f%f%f ", &marks[0], &marks|[1], &marks[2],&marks[3]).
total_marks = marks[0] + marks[1] + marks[2] + marks|[3];

printf (“Total marks obtained by student are %f ", total marks);
getch();
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Program

#include<stdio.h>
#include<conio.h>

void main()

{
clrscr():
int array (5] = {10, 20, 30, 40, 50},
inti;

/* Following statements ask the user to input an index into variable i. */
printf("Please enter the index whose value you want to display");

scanf("%4d", &i);

/* Following statement displays the value of the array at the index entered by user. */
printf("The value is %d", array{i]);

getch();

-?—r'f&)b';'—'".;é;bhd/.’*’-’ébr';\,@2— /:,ti!r-."f_:JVkld/_)J/f_)

Program

#include<stdio.h>
#include<conio h>

void main()

{ clrscr(),
int array [5) = {10, 20, 30, 40, 50};
inti=2;

I Following statement dispiays value 30, as i contains 2 and the value at array[2] is 30 */
printf("%d", arrayl[i]).

1++,

I* Following statement displays value 40, as i has been incremented to 3 and the value at
array (3] is 40. */

printf("\n%d", array(i]);

getch();
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LS AT LIS LRI S A s
Mg g FLES b L2 SIS T anf St d 77w e L il
2/{;7;‘;_’_(30{(;;:‘ c - Ly/llmndits Sef printf ("Pakistan"), ,l',,|/".r7}‘g.;,,,/J£"Pakistan"
~‘LJ/'/:|/

Y‘JFOI s1

<7 While .2
¥ Do-while .3
(General structure of loopc).(b!(bb’d)

Syt chnfigt /L LiipyEut & (WS 28 L Siao e LAV 341
e QISP LLETI TN FLEF C Lreboma el

.frf-p/)lfcflf.é;;?u;,rt;'vc_f/r(m,ﬁ_wjéfe;‘_/éloL_,_f,/‘J/.—_(-:auLu:i&.m.fJ_/J/'

Sl S G gl S K L7 QAR LS5l S O AT S LK L ESi
ok L S 3LIE | ufJfL'SJL&’l‘ib.{lc.ﬁﬁ?éufdjiimO.Fufli_ﬁﬁ-f_t_wé‘)ji'iul02._(7
LB s F10 fdzhf,,:thﬁ,.E.ﬁ,Jt/fvaf_dg¢4ifn/ 10 ALy /G

< QS6sSE G L L AL Li ol DL g pf BB Sy ii*

LS LS kg PSS ALt
,‘au"-a/d_’ja»{_ ‘CV’J for J{:;-".Ll/u' C

for (initialization; condition; increment / decrement) —» For loop Statement

{
Code to repeat —» Body of for loop

}
:wéﬁ4l‘/K.,;}J5,»zp(7c_.;/g:5
Bl A JiS 0 ¥ iU tnik Aidl e oze ougf ) for (initialization) 27851 1
Ly, 2L A
LT b AT E (false) a6, Sine G S G (Condition) 247 .2
P B e eontINH 3
B2 00 rins i Ao e B P r I S8 11 pi e L G2 S Lok B ) 4
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Je

Program T Flowchart:
#include<stdio h>
#include<conio.h> Initialization
void main() - Il;icrement{
{ ecremen
for(inti=0; i< 3; i++) l
{ Check True Exe
oG e cute
;) st hakiatamnt Condition Associated Code
}
Output False
Pakistan
Pakistan
Pakistan

Stop

ik

B E Lz i S FARETRL T = S S te b o6 B L Saesl S f A,

et e 0 od e bip st 4 i IS 2 FSK U inti = 0; Fa FEH AF
LTSRS A e Be g e fe 3 e 0 =20 Seatele s i<3 Ry
-.;_t'r:;w,;o:; "Pakistan" LA printf ("Pakistan\n"); d’-"adlgdﬂ_;/

S0 dtedi Sra bl 5ui 1 el i LA irh Pedned Bt et £ [ et 5
-d’('..tg_n 1ed oty

@J&;_ug»dﬂ..’./m?L:I(gxa»uguuz,ﬁ(}‘la.fr_.}ﬁq. 1 .:éd/if[‘f.d_f.g;ugvcﬁﬁ/.,l
-qut_uf 2 Son2ddi ,‘r’l-c‘.t‘l.;_t_u/);;q,'c 249 "Pakistan”

it KW g Fradnd "Pakistan® e fe 3 2e 2 22 | EL L g S S P i s
' o3 Soted
c..?,'d:/”’»f-;;é_lgn(falsc) wugiféu‘iuﬁéffc 3 2e 3 &EJI f{éq/x‘(y‘dﬁmg»,»
K bT L
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Program

#include<stdio.h>
#include<conio.h>
| void main()

{

clrser();

for(inti= 1, i<= 10; i++)
{

printf(*%d\n” | i);

}

getch(),

i ot 41 gt
e TGRS 1 IS L 1
r‘_;//,LF.:od:"JJF'ld/_inff:quik_..:ﬂﬂrk!qg_JTL}:J’JH_--;J;;.. (true) e (i <= 10) 205 S =2
b6l U
22 d e (2<210) £l (true) ez e bl G ks /i e Qb 2 23 i it -3
| -V
.f{cc’x(falsc)wg‘dﬂ.,,!_z_wl1;,-EJi».'Z_.i_uu,-Ltyx,;,;w10I.£.._.:.¢.Lz,»d,t;f, -4
Konf Sl i S fF10a 1T It (11>10)
K7 vd Vo Ottt tors S d LTS Lo B mi 20
(teration) A£

Follb AN EL s (false) s ZH VBN B L Kot abiaige S 1 F




 psbntntterind “w ) e L‘.'gi
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Program

#include<stdio.h>
#include<conio.h>

void main()
{
cirscr().
intn, fact=1;

printf("Please enter a positive number whose factonal you want to find");
scanf("%d", &n);
for(inti =1, i<=n, i++)

{
)

printf(“The factorial of input number %d is %d", n, fact);
getch(),

fact = fact * i;

-‘;_JJ (o uJ_j £ RUHES Aol /,-utw-ns.:gu!ﬁq_r/ 6 (KL{I/,/'J{ Lissrn )

Iteration Value of counter Condltion Loop body Result
fact=1
1 i=1 TRUE(1<=5) fact = fact *i fact=1"1=1
2 i=2 TRUE(2<=5) fact = fact “i fact=1"2=2
3 i=8 TRUE(3<=5) fact = fact "i fact=2*3=6
4 i=4 TRUE(4<=5) fact = fact “i fact=6"4=24
5 i=5 TRUE(5<=5) fact = fact®i fact=24"5=120
6 =6 FALSE (6>5) 120 Sabeman
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L SIEAUL RIS (S Sy St 35
e /{/'/Jrfﬁl-:-.r‘ for _{_.tlk(-.rﬂ.?:-"‘."' ...?..:’I/JUXIL.T:J..Q

for (initialization; condition; Increment / decrement)

{

Code to repeat

}

-:f_ﬂ:r:ofﬁ;y' for Js'..{lq_.-:;_a:x}ff\jifff;:@ C (code to repeat) .JUJ;LL_:I;I;waé/M!‘/(T
A it e n L it

for (initialization; condition; increment / decrement)

{
for (initialization; condition; increment / decrement)
{
Code to repeat
}
}

_ :(Use of nested loop) Je-1Kos/i><

G0 A0 fakif e WA i e T SN L h e pnd o i
’,,J').m-__;ﬂw;wﬁz,o,_,fw;.:g/:ﬁ;ﬂ;,gru’wjloa.Irf-aglo/’néwaﬂv"wﬂ%‘-‘r";w
-;.D{/LIORVJ e
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Program

#include<stdio.h>
#include<conio.h>

void main ()
{ clrscr();
for(inti=1; i<=5; i++)
{
for(intj = 1; j <= 10; j++)
{
printf("%d ", j);
}
print(*\n");
}
getch();
}
Output
12345678910
12345678910
12345678910
12345678910
12345678910

ol

Ly od 4 W af T2 S KL i S

F 10 1 el dduigi)(1<=5) conSre ol GAREL A zIn1 2380 1
N N

-.f_(}tgl'uﬁu‘;'fufl/,u{x(‘m‘aaf printf ("\n"); ;‘erﬂgc\?«)’s)llld)/‘f*? 2

Jl/)I‘LJ%?)‘Jﬁzﬂd/{"ﬂ-iguz;ugmyglfc. 5 :flf_?-g.&tyx 2 :»icl_t;:.;ulu'.‘;.fd/i ¥
- Qe FUE LT e At e B Lo i g st Fodn fE 101 LI

Brc7e- Qs EHS Az Qo 6 Soned i i S0 5 fUs A fl0e 1| (b 4

__j_t'lg::f}f.::’
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* % % O b X
* & % o
* % F %

* % %

* %

*

Program

#include<stdio.h>
#include<conio.h>
void main() Output

{

clrscr();
for(inti=1;i<= 8, i++)
{
for(intj = 1) <=1 j++)
printf (“*");
printf (*\n");

* ok F % % %
* ok ¥ % ¥
* F F %

* % %

* %

getch();

__L.:V‘.'.‘;‘Jifﬂi:.?;ﬂ

Bl F6 e 1 b adUiaz et/ o 6 fusiefSle

AL Ssl e o3 L TVS A e 2 LIS 390 ] 4;FLI$';J1;¢_;L1$¢J):"£2._.JJ13£ .{:r‘? 2
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j<=i Furl SRS A Fi b p i S Ak
SoitTe b2 2 I poroa trei bl S Te Bl D o Adii e dmt = d Wi pes 3
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e EN B PSS S S LA i I AL A A i




122 et 3 i Ll
.QGLT.,«)J'LZL/-":Z’:Z__)UVALu:/»fi.b.ﬁfaﬂ/:/,u_ﬁ:d
Program

#include <stdio.h>
#include<conio.h>

void main ()

{

clrscr();

int n, lower, upper, count = 0;

printf ("Enter the number: ");

scanf ("%d", &n);

printf ("Enter the lower and upper limit of multiples:\n");

scanf ("%d%d", &lower, &upper),

for(int i = lower; i<= upper,; i++)

ifi % n==0)

count++;

printf ("Number of multiples of %d between %d and %d are %d", n, lower, upper, count);
getch();

(e n2 ¢ nl)-tbifeie LA 1 iTE 12 e nl zu:"’(a/u,.{t YV

Program

#include <stdio.h>
#include<conio.h>

void main ()

{
clrscer();
intn1, n2;

printf ("Enter the lower and upper limit of even numbers:\n");
scanf ("%d%d", &n2, &n1);

if(n1>n2)
{
for(inti=n1,i>=n2;i-)
{
if(i% 2 ==0)
prntf(“%d" , i),
}
}
getch();
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Program

#include <stdio.h>
#include<conio.h>

void main ()
{
clrscr();
int n;
Int flag = 1;

printf ("Enter a number: ");
scanf ("%d", &n);
for (inti=2; i<n;i++)

{
if (n% i==0)
flag = 0;
}
if (flag == 1)
printf ("This is a prime number");
else
printf ("This is not a prime number”);
getch();
}
-é_u’u,czf,uu )L.Floo;zzu:"’ rcfu,..t_’w
Program .

# include<stdio h>
#include<conio.h>

int main ()
(
clrscr():
int flag;
for (int] = 2; ] <= 100; j++)
flag = 1;
for (inti=2;i<j i++)
{
if (j %i ==0)
{
flag = 0;
}
}
if (lag ==1)

{
}

printf ("%d *, J);

}
getch();
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inta[10], '
for (inti=0;i< 10, i++)

§_cani ("%d", &ali]),

Ao pLesd L ke nfFs 2 (134l

Program

#include<stdio h>

void main(}

{
int multiples(5].
for (inti=0;i<5; i++)
multiples(i]= (i + 1)*23;

W 5k ﬁ.;_,l_glul’ Vr':'u-!"i 100 fﬁf,_}u-‘ffifiﬂlvl_'i.;,p-uji_ﬁj. d;hvdﬂuia:;;ru;ﬁ;;;,r

2L

o 2 e i L SRS @

—uE

for (inti=0; i< 100; i++)
printf("%d ", a[i]);

_.J_YE.C_ /rff sr._/‘.éll’l.}c’_f. c_jl_.__fi L';J"./:'L'f 1 Ooﬁ,ffdh?!;’hﬁjc-,»

lint sum=0;
for{inti = 0; i< 100; i++)
sum = sum + a[i];

printf("The sum of all the elements of array is %d", sum);
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Program

#include <stdio.h>

void main ()

{
inta[]={2. 3,54, 22,67, 34, 29, 19},
intb[]={65,73, 26, 10, 4, 2, 84, 26};
for (inti = 0; i<8; i++)
printf (“%d", ali] + b[i]);

5
Uy F U A1y
D c B A Jir A
weoboes Jrr o ey oL 1
p nr ~ ; P =\ 155 e Y, 2
LIS 2 | and W e $ort L
i
:-J /_f., y 7 J 1
2-102 1-100 0-100 0-99 Bl 1007 b i) 3
-
% ; ',J/LJ(J,‘ Sl e Y
¥ Js T b/ - Liphf e fLon2bfy 4
etnJiid £
LI | Akea | ke s e dze Sty | s
Uinbsla | L s = -‘acﬁgyf'/’u«?: Lgﬁﬂ:’r‘-/‘ 6
Nested | Do-while While For et Rd Sl alod | 1
150 | Hou it R e Oedte o K _JiFor| 8




125 g 3 o 3

.d& u"'?"j‘"'.'-li"ﬁzﬁ » :?g,fdrifu'-{kd

Program

#include <stdio.h>

void main ()

{
inta[]={2. 3,54, 22,67, 34, 29, 19},
intb[]={65,73, 26, 10, 4, 2, 84, 26};
for (inti = 0; i<8; i++)
printf (“%d", ali] + b[i]);

5
Uy F U A1y
D c B A Jir A
weoboes Jrr o ey oL 1
p nr ~ ; P =\ 155 e Y, 2
LIS 2 | and W e $ort L
i
:-J /_f., y 7 J 1
2-102 1-100 0-100 0-99 Bl 1007 b i) 3
-
% ; ',J/LJ(J,‘ Sl e Y
¥ Js T b/ - Liphf e fLon2bfy 4
etnJiid £
LI | Akea | ke s e dze Sty | s
Uinbsla | L s = -‘acﬁgyf'/’u«?: Lgﬁﬂ:’r‘-/‘ 6
Nested | Do-while While For et Rd Sl alod | 1
150 | Hou it R e Oedte o K _JiFor| 8
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ACPU Friendly) $4/CPU

4 e TS B e QUTCPUL L spldt f Pyl pe it 1 AL i st 58510 a4

LBE NS F e
(Define the Size) =>las {7

AL AL [n]eest[Jems st [n) st .'.9:"..33»J_l:£ 77’;::.7-/'1'02."')/(_11
e bns RES WAL e T E S | et ST AN e T S B E S o

a)

b)

c)

d)

e)

S eu, 1154 4 S 3o s for (4
S B 111 48 LS Ao A0 L L P e S E S (s
LS e30SUBS LU L3 S5t b
int a] = ({2).{3}.{4)); Error: Parenthesis is not used in array initialization
and single curly braces are used for 1d array.
for (inti =0, i< 10, i++) ” . L I
printf(“%a\n®, i); Error:*Semicolon is missing inside the loop.
inta[]={1.234,5}); -
for (intj=0;j< 5; ] + +) Error: Square bracket is wused instead of
printf (“%d *, a(j)): parenthesis in printf statement.
Rost - (1 4 3'?' 73 =5 Error: Loop condition never be false.
int size = 4,
for (int n -1; n « size; n—)
printf (*%A\n", fin]);
int count = 0;

i ek i@ o) Error: Outer loop never be false. Semicolon is
for(int i=4;i < 6; missing at the end of printf statement.
for(int j=i; j < 45; ) + +)

{

count++,

printf( %count” count)

)
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a)

b)

<)

d)

e)

intsum=0, p;
for(p=5p<=25,p=p+5)
sum = sum + 5;

printf (*sum is %d “, sum);

inti;
for(i=34;i<=60;i"2)
printf(***);

for (inti = 50; i<= 50, |++)

{

for(j=i,]>=48,j--)
printf (“j =%d \ n", j);
printf (i = %d\n", i);

inti,an{]1={2,3,4,5,6,7, 8},
for (i = 0;i <7, i++)
{
printf (*%d\n" arv(i] * ani]);

=+

inti, j;
float ar1] ) = {1.1, 1.2, 1.3);
float ar2[ ] = {2.1, 2.2, 2.3},
for(i=0;i<3;i++)
for(j=i,)<3;j++)
prntf("%Nn", art{il * a2 * i j)

.u.'d e TSUr? £35S it 15U

Qutput: 25

Output: *

Output:
j=50
=48

i=50

Output:

2Ea*

Output:
0.000000
0.000000
0.000000
2.640000
$.520000
11.959999
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‘Program - . -
“#include <stdio h>
#include<conio h>
int main() Output
{ Shhen
clrscr(), nnne
inti, envee
for(i=1;i<=3;i++)
{
for(j=1,j<=5;j++)
printf("*").
printf("\n");
}
getch();
}
A S pa LSS A @
BC
DEF
GHIJ
KLMN
| Program
#include <stdio.h>
#include<conio h>
int main()
{
clrser(); Output
char ch="A"; A
for(int i=1,i<=5,i++) BC
{ DEF
for(int j=1;j<=i; j++) GHU
printf("%c",ch++); KLMN
printf("\n");
}
getch();

L)
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-\ FLIR a"»v;.C;’.:.guuA‘f bnlvx.;.}»zuﬁj rl)’u’.{lﬁf

L P_[?g ram

| #include <math.h>
'I #include <stdio h>
i #include<conio.h>

int main()
{
clrscr(),
int a, b, result; . OQutput
printf(“Enter a base number: "); Enter a base number: 2
scanf("%d", &a); Enter an exponent: 3
printf("Enter an exponent: "), 2/3=8
scanf("%d", &b);
result = pow(a, b);

printf("%d"%d = %d", a, b, resuit);
getch ();

Ll S (GOD) el S 3 b op by Bl b o /».eu.‘.'d rlf,/'.{l:BJ"

[ Program
#include<stdio.h>
#include<conio.h>

int main()
{ clrscr();
intm, n;

printf("Enter two integer numbers: ),
scanf ("%d \n %d", &m, &n),

while (n > 0)
{
intr=m % n;
m=n;
n=r,
}
printf ("GCD = %d \n".m);
getch ();
)
Output
Enter two integer numbers: 5
15

GCD =56
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Solution:

#include <stdio.h>

#include <conio.h>

int main()

: clrscr();
inti,
unsigned long int fact = 1;
for(int n=1;n<=7;n++)

{
for(i = n; > 0; I--)
{
fact = fact * i
}
printf("%d \t" fact);
fact=1;
}
getch();
}
Output
1 2 6 24 120 720 5040

oL A2 LS by § T & g/flﬁ‘l;:iﬂifwt.._fig(ﬁl 10...L_’|zg."’rruﬂf,...§'| 57

5
Program
#include <s!di?.h> Output
#include <conio.h> :
int main() Enter 10 Numbers : g
{ 7
clrscr();
int num(10]; g
printf("Enter 10 Numbers :");
for(int i =0;i<10:j++) 5
( 26
scanf("%d\n" &numfi]); g
}
printf("Product of 1st and last number is =%d",num[0]*num[9)): 4
getch 0: Product of 1st
} y and last number is = 36
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[ Program
T#hnclude <stdio h>
#include <conio. h>
int main()
{ cIrscr():
int num[7]={9,8,11,12,14,15,16} count=0;
for(int i =0;i<7;i++)

i Qutput
| The Elements greater than 10 in array are : 5

(
if(num(i}>10)
count++;
}
printf("The Elements greater than 10 in array are :%d",count);
getch(),
}
Su Sy
LSy K2 2P0 ) a8 S,
[ Program ~ N

#include <stdio.h> T =T =
#include <conio.h> Output
int main() 2'1=2
{ 2°2=4

cirscr(), 2 : 3 f 6

int n=2, i 2°4=8

for (i = 1, i<= 10; ++i) 2°5=10

{ 2°6=12

printf("%d * %d = %d \n", n, i, n *i); 2*7=14

} 2*8=16

getch (); 2°9=18
} 2*10=20
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' Program
#include <stdio h>
#include <conio.h>

int main()

{
clrscr();
int marks[30],total=0;
float avg;

printf("Enter Marks of 30 students \n");
for(int 1=0:i<30;i++)
{
scanf("%d\n" , &marksli}),
total=total+marks(i];
}
avg = total/30;
printf("Average Marks is =%f " avg),
getch ();

Output
Note: All values are entered in consecutive 30 lines, the table refer only example.

Enter Marks of 30 students

515 | 600 | 450 | 750 | 850 | 477 | 985 [ 1052 | 1014 | 914
! 814 | 715 | 625 | 525 | 423 | 498 | 478 1011 | 615 | 698
' [ 874 | 748 | 987 | 789 | 879 | 654 | 546 | 546 | 564 | 456

Average Marks is = 701.733333
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_.f./.-.;/,df'& 65 5,4,3,2 .eu:"‘fruﬁz,.ﬁu.sdz’/
“Program . |
Solution: Output: J
' #include <stdio.h> 2+1=2 5+1=5
#include <conio h> 2+2=4 5+2=10
A g 2°3=6 5*3=15
-I{ ; 244=8 5°4=20
int n=2; 2*5=10 5*5=25
| for (inti =1, i<=10; ++i) 2 =12 5+6=30
|' { _ o 2°7=14 5*7=35
; printf("%d * %d = %d \n", n, 1, n "), 2+8=18 5*8 =40
2"9=18 5%9=45
s e 2°10=20  5*10=50
n=3;
for (inti=1,i<= 10, ++i)
( 3°1=3 6°1=6
printf("%d * %d = %d \n", n, i, n i) 3'2=6 6°2=12
} 3*3=9 6"3=18
printf(“\mn”) 3*4=12 6*4=24
n=4- 3*"5=15 6*5=230
for (inti=1;i<=10: ++i) 3 7h=119 870 =30
| ( 3rp=iae 6°7=42
! printf("%d * %d = %d \n", n,i. n"i); 3"8=24 6"8=48
) 3*9=27 6*9=54
printf("\n\n"): 3*10=30 6*10=60
n=5;
' {for[inti=1;i<=10;++i\ G43 =
; . 472=8
‘ " *® 0 -0 " F I
: printf("%d " %d = %d\n", n,i,n*i); 43212
e 4*4=16
Ezrsﬂf{ \mn®); 4°5=20
, Woe e e 4*6=24
| {for(lnt|—1_|<—10, ++i) 4%7=28
| 4°8=32
ng -0 = " e w o
} printf(“%d * %d = %d \n", n, i, n *i); VG
- =4
getch () R AR
}
Output
Note: Table should display below to next table and vice versa.
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Sl ity
o LS dize £ el
A1 it $ort Y e e B
¥ ' - _g.i:c{/g_:‘-'vgic.
int int int int =l J’J]-.—f‘u:u)'ﬂ(_/lJ..;}'t:/.‘::'u_ﬁ
daily_wage | daily wage | daily wage | daily wage lf'; Fan -f/; e 8 i £l 4
“7”; (7), [7]; [7' B ‘i/f“’-;‘;&) ----- e
2 1 -0 =1 -é_t';:é/s/‘c_n_“fg}‘lg/i,gl 5
. intar [9] e A76 L4 A int L0J)
AT " % 5 intarr [9] 5 L4 7L int o 5
ALY
' Q= | i 2]1= | intam(2)= 'mtarr[Z]; . .
nt arr mtarr[ J -.u?é/'/’ll’:‘.‘d_!(é-/f.{'gﬁé;-"c (: 7
(10,20) {10,20); {10,20} (10,20)
e | S | Riien | B —etld e LA | 8
J:/O’J!( £ By A -q.CCkggfll«f‘f:i;ﬁ fc/l.{l 9
ST s f;../t.{:.:iy.ﬁgﬁﬂslﬂ/?
iv.{’ Z:/uf-uf- ) L):{’.{' :;A/"JL/‘/’IQ."U( N"‘“_./lf}"f_/ 10
?‘Q_Jﬂ
nested float nt while _q_ﬁf,w"-;/f.‘".;,p(_,u_____ﬁ 11
while float Simple for _4_CC[,¢>':‘:¢?,,,>9,1___-_(, 12
L . , ) B LT SR S A O
I | fodg || o |IFOIRS e Ol

-q_r/ /i‘d:d”‘:/".';r
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mishitel 3 g | (i

]I =3 T—-L‘x,ﬁjufi" Lot f e

r i f array_name[index]; AN L aaeeee
ALl o= A - -zl - 2 . 14
| ' Fed Ldv;i&;sf"ur:ﬁh_ﬂfﬁ

‘_aé/"
i . . P f:fq_.._._,:/.‘ﬁrcl.:fﬂ.{iur/_.ﬂ
A Loy SIS ~ S - 15
1 - Ji"';;x:b&cud;"{._.xl
- u(i_l,;; r/._,% hi e ...J._/!L .._.i: i V":'I /"r
— VH”J ;F; &l gl . 16
R, D" I (irens
3 = 3 20
6 5 4 3 -{—U-‘rk-’”'ﬁf-;"‘ﬂ:rf’ tL&c | 17
- ¥ check ¢ while | osdowhile ..7.,31 for ?f—u':‘}f:‘d/ui!'v'c'ff—-d:ut-‘-,"M" 18

P . . . - & e e el

SIY | Fa CRF U o A ‘ ‘ : 2| 18
_.T_'C‘K.;):..r;fl

B J /‘f ‘:—"} ;,2{.:%13- - 2% ;flf !/2; J:....;!' Agp} 20
) ) Z./’UL'L:’I;J-'l&:.:-:'.’._/uf__.-:’a_(f(‘?-_-?

do while loop | while loop | nested loop else foop * P 21
e S

Fiuztoad ok LF

nested loop else loop | do while loop | repetition loop | 22
B, {10 Ju‘:’l
Arud | frwie | Axd | Arod | caElde___nLifpdf | B

A i

J/,r/"loc:p

J /{/"dala

2 while

e (FUnE JI,;‘;}/{/} P

" |

L e

24

22 Ak i S e LU L e 25
. S vﬁ)ré_d:i./rgé";ﬁ..iﬁ:;; I
(% e e Ve -1 o 26
- £ ,'rg_,l (=
St YTl nl S Ik
e [ 4 b e —_—
) P e 7 for g 27

pEL
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SLESS e P A -t abimsmyfutac s | 28

A for | /e for | (FAED) for

. e c2r b S
‘Jf('\f‘(d) E o = - c_U/Lf&/_/u —for | 29
Aok | R | ElexA
L (2 (222
u;I;'tUJ ,4v/y’ b J."} -c.f:‘..:'foru/uu:(u-l - forU’ 30
=ALR
1 |2 3 4 I's 6. |7 8 9 10
C B A B B B C D A A
11 12 13 14 15 16 17 18 19 20
B C A D B C A D A C
21 22 23 24 25 26 27 28 29 30
B D A C A B B A A B

Sl e 0

D ST S Vi (TN I ey T T

oo 2y

e bS5 L v 2SO e E K1 i L1, IS L 2e 4 sLic i

S ESLH A St i 30

-5 § RII .~_6]/':’<_L>J/4..,/!u syl Vu..,w,u/JtJV s G/rJvc/“'uf.ﬁ,a‘.u(/ SR
- ES

\OESLR A Sngadpiay
Float marks [20]; eSS R S nt b L&, AL P20 : iz
i Ve KIS sy
-.cfﬁw’-/uéuwg;ﬁséo‘df‘-s&vﬂfeﬂuﬁ-,art.vu’u*'z’ué"ufizufff LS Ad iz

intdaily_wage [7];
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saES 7S 60
D, N OB SIS T PR T

Data_type array_name[N] = {value1, value2, values,............... ,valueN};
LIS P P S e B LES 23 (height) G Hiel T
float helght[7] = {5.7, 6.2, 6.9, 6.1, 6.0, 6.5, 6.2); (2
TESH S e LB bANed T B
LSS Jc_/l,é-’c_idf.;b"/'l/&‘_/’(:uﬁ; A2
..u.‘.'a J&J‘ﬁﬁ’:‘u_m;‘.éi_ﬁj 59 (vowels) e beis.? égﬁé:‘-“ d'/.j'-96/
char vowels[5] = {"a’, 'e’, 'i', '0', 'u’}; A WY
S SIS fIap L S S LR A o
VUt eeen S ES L I L) P e Yol IV ET
SIS G L e g fr P G S o e
S LSS BE S 75 J"-‘&:raﬁcﬂa.-,ﬁ?u.{:ﬁy’.x 1
e bl JJ&J:SE-,W/J-Z-E/"Jf"/“'_té"!fgfp-{l(u‘ Le s uf./-"gf..{i(k;’ Y 4

void main() ERROR : initialization whole array after declaration not
{ allowed
int array(5];
array[5] = {10, 20, 30, 40, 50}, @
}
Twé/wabJJJﬁluﬁ.lw
QSS:"‘JJEM(?/Janay_name[index]; L)inVL(J.‘Lc.Ad.:'_t'n/-.)g/-ri'l..._(lb’_';ﬁlﬁéc_./! N 2
LES L LSS F

S Ui b L b8y 130
i Fof 41 bt S b LS e A S 1o S o ezt et i 'l

#include<stdio.h>
void main() s

{

int array [5] = {10, 20, 30, 40, 50};

inti;

printf("Please enter the index whose value you want to display");
scanf("%d", &i);

printf("The value is %d", arrayfi]);
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?q.&(.r:'.lw

M jq F LN /,u*Ld&-wz./dv'flw.ﬁimn/Jé_w/u"'*"vy L LLN iz
Ly SR gl F pﬁ;tf("pakiszan"); A }:f:;‘a.;-u/’gf?_ﬂ "Pakistan"

s Lapif el Lodttf e sy

eSO p AL L L C iz

¢ Do -while .3 7 While .2 ?For.l

' S W3S RS 16U

G pdd e tafie b /L Liip bt [85 028 Sinso e G LN 1401 A 2
e/ PPLLESD P 1F LT ¢ SrebenaTed

s UL LA

e E ditwd Lot tr LEE B Loy C iR

for (initialization; condition; increment / decrement)

{
Code to repeat
}
Ltihbd L4 o s a8y
Initialization Increment/
Decrement
|
Check True Execute
Condition Associated Code
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it ) s | e 3

LSS SIS FI A g e T stph
int main()
{
inti=0,x=0
do
{
ifli % 5==10)
{
cout<<x;
X++:
}
++
}
while(i<10);
cout<<x.
getch ()
)
Output
012
int main()
{
int i=0,x=0,

)

output

12344

etk Al S 2 S L for 190
: "_:l-_L’i.:_..‘.----:'.'.;_.-‘?LL_{_J:.;.,-‘ for (initialization) = 715 e 2

-u.?i-ty.;‘.i"i_rs-_;ffi:f/ﬁarvg

st s TSt igtitn 200

sl s T Sy ditn 210

for(i=1,i<101"=2)

X++;
cout<<x;

cout<<x;
getch (},
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syt S0 20y

bl A KLy (false) s L FELEotid S Lok Vel etaoze S ot f iz

. TS e Aot KR 23

el nf o for Ll ooe O3 FSAEF C (code 1o 1epeat) 37Ul o0 S LI Siatsefin 2

e A ettt e nlif p s
for (initialization; condition; increment/decrement)

{
for (Initialization; condition; Increment/decrement)
{
Code to repeat
}
}

VIR i 240

e VoA i e T SIS IS 191 & LV iR
Sl SIS R A28

ATzt AT LI e b it Tl S I 10 L de pnd ok '("‘_;').:.,m
LIS IS 165U 10| SR E S ATz £ 101 fk1 0/igl Sl i

< Bafor

YO/ L snlvgd 260
Y 4

P -’
L vie Lif s Lize A ptific udwuuﬁo’z_wfw”*'/ whie Lk LN
et B F LS I U O & | b ap o P L5 4 £ LS Je
("Pakistan"); 4 1z (7§ & =/ § & "Pakistan”
Ly idiie L prinf
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Sebtelfei 4’ while 27U

int main()

{
inti=1;
i=i-1;
while(i)

cout<<"its a while loop";
i++

}
geteh ();

}
Output
Infinite Times.

S\ E S LIRS T Bzt e ek aS 1041 280
Y

int a [10};
for (inti =0, i< 10; i++)
scanf ("%d", &ali]);

L Li T f L a G (100 200
_.;_CCL?gJL-H.{_LL)'_';,;J'J"—“’“I-IL;_ALW"":{I 10043/t 3Gl 2

for (inti = 0; i< 100; i++)

printf("%d ", ai]):
L LS, ..r""-J‘WLHU"" 4U 541100 300
BESES, u}-{lrﬂ’&gﬂ-ﬂg{ ek 00 S S5 st
int sum = 0;

for(inti = 0; i< 100; i++)
sum = sum + afi];
printf("The sum of all the elements of array is %d", sum);
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e S While 31

#include <stdio.h> A
int main()

{
int count=1;
while (count <= 4)

printf("%d ", count);
count++;

getch(), ~

}
Output: -
1234

Sy Sl S VL Lo for 32

Ko AE TN S BB ;2 Lif 2e SIS 10 JrS 00 36 2

Sy S ol S LSS 13 F56 S S for 3307

O Lede 2L s e L SIS s FIE o for i

LSRN N5 e A S LI A 34y

AL LGS AT e 23 NS0 I e s o e A iz
et il LiipforL S

S =olsf s While 350

e s Fretbieor LWlisbatlAbes while ucf;ﬁ.’-&vfu, C %AdR

/S While 36

. ' ?
while (condition) et

Statement or set of statements;

Sk WA A L S 31y
IS LS a L LK
obifAed  SCPU3 esd6g2 AR
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R RE S R AL LES S S MK EE S Bt (Y
it = F BN LL TS e e bl L& S LTS S F sz S
LSS st Sl Al s LS oF S PR e dntS
1S ENCipetonh 0l 27, &L AL LS o LA e te Y J6 S K E

= g :’J(_.J{va_gé_xf—-’!

_g,_[/:u?L'-;JrL:"ld/}'-:ﬁ?g..y(}ﬁ W

LI 3B Fond e PG print e tspi b ez {-—fli.-—f'h’ﬁuig
Ligretr SF ;,:..Qu:rr)',4 peatndeid Lo ,;U.:._.,;,—"Q»I.I scanf - trJiid &
BE SN L pEF B il b e topldt S uré
(8
g -rﬂ,;&;‘ﬁ/,,hj:g

(User-defined Function)  2P4wisy (2 (Built-in Function) Bt (1
(Built-1n Funetion) }'-L’guh:‘l. (1

CE P60 2B e bl PP tic e festont GBS iyse bt 2802
S (Y 0 o ,;»br-u;;ﬁ,-u_.r«/u Sas -;ﬁ,_i_,:r.,g:n,;ubéd?.);l.{: é,ﬁ:’):ﬁ,_,-.f_.t-@
-u};ﬁguf.ﬂ: scanf sl pnntf.;u" (C—LJC'.’-H?E_T.JFL?:I&/;}C)&"‘/;T—*Q&;T/J-;UI ,w)‘*-/,i'
(User-defined Function) /-:6 Felny

A Lt Jb Lz p Sy 2O a2 2wy e bt 1 S 1 22
LS MIEES I 2B

I WY VIR Nl
(Reusability) JikinA» (1

J(ﬁmclionalily) L}:‘-’-;ﬁJJ'G_._(IVC"d':..._..::.l'lg,_.._,lbb’u‘l-bgéfdk.-:*lug”fjfﬁg_;s&y-‘ﬁ
-ILJ;»ﬁ;{c"j&f&-ﬁfﬁ;p@f-;ﬁé/d(/dzgg’lﬁn&u/
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-av/:/Jé;;//JD.ﬂq/f QJJU:;/JA_/_GI(U’;/&//J.LA_/J;:/J.:“J@C‘/{
(Handling the Complexity of problem) 32 G-ngd/ &G

ur® L.//_./f(l/:/ 2B bon oS Jud S Sy b £ s tidp Sy
e Saml &t primal ), b
(Readability) =ch ez (4

_‘;_t'ltf.ﬂ{f.:._élJiz‘/'d/rl/;/'tf(?gﬁ'/‘igffrl/:/'

LS LU JW3SAE N,

;/‘/:ﬁiu‘gfvr“uu,(u-‘ﬁ c‘_t'/’('l/...r..ﬁn,/:!c_t/wb.fulfiaJU.ﬁb’JWfﬁ
IJ(U//-.»"uUc...fl dowér;/fﬁuhauﬁgﬂ;_}' -L'-atbL{:J’JU//JJIJ(_/v;IJU"GJ;Iq_t'b
_wé_fdt"’l.__c..w’bsd/u—df/’l_fu1 J‘E(SIgnamre)/’"aégfﬁ =

[ function identiﬂerJ ZigSs o

=L

return_type function_ name(data_ typel, data_type2,...,data_ typely);

1
data type of data type of

return value function parameters T .
Lo P
o S5
.'(‘-/u/‘:jd/b{u"ul%Q%u'/#[/;’.{!ﬁfﬁ..‘g
uﬁj}b'(‘}fy”‘?Q%U'ﬂ“-’/&’;—ﬁu‘&yk{&:‘ﬁfav{'

float perimeter (float, float); o J
= I

int square (int);

int largest (int, int, int); "(“'/uf"J‘:"-;d}-c—"f"‘;u’”'C‘—C.‘."-ZUU’HIJF-J'JJ’.U"E‘._Q

_(‘.-IU/‘.J.}'Jb/c_/'b»lQ.C:'..:.gul/ﬂfdluég./’uzg‘—g__ﬁ

float area (float);

1 J& (vowel) _-J.J/flm‘gcf_»,;uu#//‘.(/qjﬁfg.ﬁ
int 15V owel (char);
L A -f‘./c)/’./ 0 ;1){4./(;)/'.1
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syt Sur L SEB s

(A i in fFBGEL L e L LS oSOt v FF LS
-c__r_'(',,).jit{:jbi

return_type function_name (data_type_var1, data_type _var2, ...., data_type_varN)

{
Body of the function

}

il /"CJ"C'-G.E:/VI/ ,»ru'b,ﬁwﬁfwfc.rx_/vu—’“’uu dnJg-ﬁ
et A8 LA 7 et
/u,r/r/Jr,fJu//o‘f;,ru uld);’._d =oles shOWpangram()u"G..fUi‘/J) L Je
- tW> " A Quick Brown Fox Jumps over the Lazy Dog "

void showPangram() <«——— [ function name |

{

printf(“\n A quick brown fox jumps over the lazy dog.\n");

}

-&-void _/t\,lr./du Z,) "t‘/"JIU/;/ mﬁfw

-J';/ruﬁ/irfb’/.‘:ridiunlc“_\:(..Jf.‘:;m.‘/,u'/)‘-’ﬁdl‘/Ju:ﬁ :J&

int add (int x, int y)

{ tL_Y_/ <«— | Parameters of function
) Function name

int result; Retum type
result=x+y;

return result;

}

;-,’C"u_fl-c‘_rnduh_il_é..f u/ué:ufcf@ (calling) F¥2c k3 & L1 retun LB
Return (4 ,5); -c.);'K//l)llle./'z"’J)';/y/u"LJ(‘? D:IJ';U/‘;J;”Q}:_.Q

S B e en? B o it ypabbsaPud s upmie LB
e br AT /u’”/ 2L
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St US FLSE A Ll L LA HAP W
_;:r(’,"lrb’y’gry(rl/":.;au/t.;_ :«/’,,)JL/JKIU‘:E;(})’U:‘:
(General Structure) ._flwid/
el LS e 038t Lo
function_name(value1, valuez, ...., valueN);

#include<stdio.h>
#include<conio.h>

E’O'd ShowPangram() < Function Declaration
printf(“A quick brown fox jumps over the lazy dog\n");

}

void main()

{
clrscr(),
printf(“Hello from main()\n”);
ShowPangram(); < { function call
printf(“Welcome back to main()”):
getch();

}

Output

Hello from main()
A quick brown fox jumps over the lazy dog.
Welcome back to main()

’IJ,/,/LJI(,;ILW)JKJC,J'.'_—J-ct’fuﬁ /WC.J‘E' (ﬂ'llﬂ()('f’/fgﬂé[)
-c.rwfwwﬁ.ﬁu’upd,/u;‘./\f J”/ou—c’-;_rwd‘ﬂxwﬁ

WA 1T 4 b’ulnlL.‘.;ul/:}»ﬁui'd rtfu,._ft:u'
-‘43/:,'(:("add" u“ggﬁii/sum =add (nl, n2); e

void main()
{ Function name
int n1, n2, sum;
scanf ("% d%Muncﬁon call
SUM= | add (n1, ”3)\ Function arguments
printf (“Sum is %d", sum),
)
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B LN i T e add) F a0l Ladd() HF a2 nl LJEAE
< VU sum

SENS 2R .;_t't:QK.{sJ).’.'u’/.suﬂﬁ—JTufu}.iafpf?ﬂdaic—(u”gd—erﬂﬂﬁfuﬁ
S x S 1 S 01 bbb K00t BT e LUy 02l UL it -2 0e 2
' sy QKJ n2 A

W JOLite O L2 Lad iy
LA Frabed . ks £ 578 5 e W P Linaledrf PP s
e telli 1
sum = add (nl,n2); 3J&
S L add () P G nduns add() E 20T 02t nl RSt
..u?;'ﬁ.lg.éuﬁy alx Al

LS N B LS L 2 S S S ST _{a‘;dr.;;‘-‘sm ‘/-"-"jgﬁy’ %
u‘rt4..._G(T(?r_wrtéi}flgfla_eaiggdw:uﬁivéurc J:o;lf;‘.':ld.csf{_dfd»/’g '
S 1S plnin)er gt cal St 2 Lf NS e f L LU o E S e

MW he Jititn - Lundd S

#include<stdio.h>
#include<conio.h>
void fun (int x, int y)
{

x = 20;

y =10;

printf(*Values of x and y in fun(): %d%d", x, y);
}

void main()
{
intx =10, y = 20;
fun (x.y);
printf(*Values of x and y in main(): %d%d", x , y);

getch();

Qutput
Values of x and y in fun(): 20 10
Values of x and y in main ():10 20

FSL, Matric Notes, Test Papers, Past Papers & other study matrial, avaliable on taleemcity.com
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Lui s Jen 7 ¥ AL LG dr bl A Ll SRS AE LS WS 2
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a) ' b)
int add(int, int), int add(int a, int b)
void main() {
{ return a + b;

printf(" %d " add(4, 5)), }
} void main()
int add(int a, int b) {
{ printf(" %d ",add(4, 5));

return a + b; }
}

LAt mainl) 78 S 0net) 1?q.(‘u/'.wuﬁm.;.axjﬁqutf/.{lzwd prime() 28 [

Program:

#include <stdio h>
#include <conio.h>
int prime(int n)

{
for(int1=2;i<n.i++)
ifin % i==0)
returnQ;
returni;
}
void main ()
{
clrscr();
int x;

printf (“Please enter a number: ");
scanf ("%d", &x);
if(prime(x))

printf(“%d is a Prime Number " x);
else

printf(“%d is not a Prime Number " x):
geteh(),
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Program: T _‘

| #include <stdio h> i
#include <conio.h>
#include <math.h>

i int digitsSum(int n) l

{ { i
. int sum = 0, ’ |
I for(int 1= 0,1 <=n, | ++)
( : {
SUM = sum + |
)
! return sum.
|)
void man()
{
clrscr()
i int number,
! printf(“Please enter a positive number. "),
scanf(*%d". &number),
| if(number >= 0)
{
int sum = digitsSum (number),
| printf ("The sum of numbers upto given number 15 %d", sum);
- )
! else
. printf(*You entered a negative number "),
getch();
L _ i
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LT | en | Sy 23 I Y- Al B
. "char"gﬁuiﬁu'l char cd{) {return ‘a’}
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a) void sum (inta, int b) Errors: If function return type is void

{ then its return nothing.
return a + b;
)
b) weidimessagel). Errors: After function definition there is
{ . . no semicolon.
printf (*Hope you are fine :)");
return 23;
o) it meaxiinta; intb) Errors: Between parameters use comma
{ ; instead of semicolon.
if (@ > Db)
return a;
return b;
}

d) int product (int n1, int n2)

Errors: Function body curly braces are
return n1*n2;

missing.

e) int totalDigits (int x)

( Errors: At the end of function body

. semicolon is not requires.
int count = 0; 9

for (inti=x; i>=1,1=1/10)
count++,
return count
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a) int xyz {int n) ' .Q/‘(‘)’ J.g..wTJu/ Szl sy
{
retumn +n;
}
int main()
}
int p = xyz (5);
p = xyz (p); Output: 10
printf("%d ",p);
}
b) :oid abc(int a, int b, int c) Output: 4 7, 23
intsum=a+b +c;
}
int main( )
{
intx=4 y=7 z=23 sumi= 0,
abc(x y 2);
printf ("%d %d %d" x, y,z),
}
c) |{nt aa (int x) Output: 260
intp=x/10;
X++;
P=p+(p*x);
retum p;
}
int main( )
{
printf ("We get %d", aa(aa(23)));
}
d) float f3(intn1,i
) (oa (int n1, int n2) Output:
n1=n1+n2; 0
n2=n2-ni; 0
retum O;
)
int main()
{

printt ("%H\n", 13(3, 2));
printf ("%f\n", 13(10, 6);
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Program

#include <stdio.h>
#include <conio.h>
int square(int x)

return (x * x);
int main()

int num;

int n:

printf("Input any number for square : "},
scanf("%d", &num);

n = square(num);

printf("The square of %d is : %d\n", num, n),
[ return 0;

1}
Output

Input any number for square : 9
The square of Sis . 81

_.;_/u}.;ﬁfrrt“ x".zud'ﬂ int power (int x, int y); u"ﬁ..l:li/"f"

Program
#include <stdio.h>
#include<math.h>
int power(int x,int y)
{

return pow(x,y),

int main()
{
int a,b;
intn;
printf("Enter base and power "),
scanf("%d %d", &a,&b);
n = power(a,b);
printf(*%d", n);
return 0;
| A
Output
Enter base and power 5
4
625
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Program
#include <stdio.h>

#include <conio.h>
unsigned int factorial(unsigned int n)

{

if(n==0)

return 1;

return n * factorial(n - 1),
}
int main()
{

int num = 5;

printf("Factorial of %d is %d.", num, factorial(num));

return O;
)
Output
Factorial of 5 is 120.

Jutg;.uwé‘..{n..ﬁgw[,w é‘d,.ﬂ)‘_.é’:d__:be.JﬂL{.’U JL:#-.._G;V.‘”J‘G.{M /O‘/
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Program
#include <stdio.h>
#include <conio.h>
void valid_triangle(int x, int y ,int z)
{
if (x +y +2z==180)
printf("Valid Triangle");
else
printf("Not valid Triangle");
}
int main()
(
inta=45 b=45 c=90;
valid_triangle(a,b,c);
return O;
}
Output

Valid Triangle
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Program

#include <stdio.h>
#include <conio.h>

float interest(float x, float y)

{
float res; Output
res= x*(y/100.0); Enter amount and percentage : 1000
return res, 10
} Interest Amount is = 100
int main()
{
float amount, percentage, result,
printf("Enter amount and percentage :");
scanf("%f %f ", &amount, &percentage);
result = interest(amount,percentage);
printf("Interest Amount is =%f " result);
return 0;
}
W RO RS WAON PNl e
Program

#include <stdio.h>
#include <conio.h>
void table(int num)
{
for(inti= 1; i<= 10; i++)
printf("%d x %d = %d\n", num, i, num*i);

int main()

intn;

printf("Enter any number ");
scanf("%d",&n);

table(n);

return O;

Qutput
Enter any number 6
6x1=6
6x2=12
6x3=18
6x4=24
6x5=30
6x6=36
6x7=42
6x8=48
6x9=54
6 x10=60
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Program

#include <stdio.h>

#include <string.h>

void extractDigits(unsigned int num)

{

intilen;
lichar pointer declaration
char temp(5];
/lassig number as string in char pointer
printf((char®)temp,"%u",num),
/lextract and print each digits
len= strien(temp),
for(i=0; i<len; i++)
printf("%c " templ[i]);

printi("\n");
}
//main program

int main()

{
unsigned int number=12345;

/lffunction calling
extractDigits(number),
return 0;
}
Output
12345
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[ function identifier
L
I 1
return_type function_name(data_typel, data_type2,...,data_typeN);
;'_J [ T J
data type of data type of
return value function parameters
f_gt /S, P int square(int); 1167

K SIpib S g ibd £ L1248 Lz
Tt S  int float perimeter (float, float); 171
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el

return_typefunction_name (data_type_var1, date_type var2, .... ,data_type varN)

{ :
Body of the function

}
e d Lostonf 4By
/7‘_-[/‘/':_-,jgf-‘t'/u.?}u/‘../f/:m{;!uﬁ}_p,ulJy(.e;_a/:)l);d/ showpangmm()cf"@u_(ldf?gf_} Ln A2
-c‘_.t'lfj "A Quick Brown Fox Jumps over the Lazy Dog "

void showPangram() ~ <«—— function name |
{

printf("\n A quick brown fox jumps over the lazy dog.\n");
}
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main()

{

int x=20;
int y=10;

swap(x.y); Output: .
printf(*%d %d",y.x+2); 10 22 (duplicate copy of arguments are
} A generated on calling a function)

swap(int x, int y)
{

int temp;

temp =x;

X=y,

y=temp;

}

s sl S Lt ws300

output()

{

printf(*%p", output);
}

iy Pl B L () sl psa o q Lo SEE Sfod vy bindnr



main()

{
intl;

Sl T bty

printf(*%d", scanf(*%d", &i)); // value 10 is given as input here

}

~-¢1 ::i&w&@"/j-q. | ufuscmfzﬁ;lj&?l&'u’%c‘}y(vl

#include<stdio.h>
int main()

{
function();

return 0;

}

void function()

{

printf("Function in C is awesome");

}

Output: Compilation error.

N 0% d-'r'f:4d 34U

int max (int a; int b)
{
if (a>b)
return a;
return b;

}
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void message ();

printf ("Hope you are fine :*);
return 23;
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